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A spherical ball is dropped in a long column of a
highly viscous liquid, The curve In the graph
shown, which represents the speed of the hall [} as
a function of ime (1) 5
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The ratio of the radius of gyration of a thin uniform
disc about an axis passing through its cenire and
normal te its plane to the radius of gyration of the
disc about its diameter is:
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A shell of mass m is at rest initially. Itexplodes into
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magnotic field strength at the contre of the solenaid
Iy :

() 125x1072T
() 1256x 1074 T
() A=A

)

=i &
62802 |

www.skresult.net




T2

0. - ST, TS W 3 A e it st s | 10,

Y geeE Sl w1y T 1, 3w & A
HiEE & AR, ST, Ty
1y 4:1

N 2
@3 e I T_:'
4 1:4 -

11, V3 s A feel wle & ae e aww

Sl : 11.

e =S - = 12.

~1) =emit
(3) = g & A o o
i) w=AE

13.  FEeE = U E R 13.

(1) 1= oie = g T
@ TFEoEs Y
(3) == e famEe

4 TEE W fFm

. S\ | 14

M ST, I O o, S S e g
mr@?,ijmm_mmﬁwm:
(c- B S &) o

T}
m 7= /:
Ve

fe

2 =" 1

(2) \Il“.
WG Y L

VE B,
4 0=y

15. 1o f1 74 200 {1l 3 &) iy famit faem | g5
iﬁ”_‘?_‘“"fﬁ_fﬂ qiﬁné‘_l Tt fomm wm T 100 1)
AT R =0 Fedtn et 200 13 ) gy
B T T T ST B |

LU E S
104 30
B 4 g SYTE
W a2 o\ 2 Y

Page 3 of 44

[FirdiEngen)

an electron in ﬂ'l“’ffﬁ L
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Alight ray falls on o glass surface of refractive iﬂdﬂ-‘:
3, atanangle 607, The angle between the refractec
and reflected rays would be:
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If 8 sonp bubble expands, the pressure inside the
bubble:

(1]  increases

12} remainsthesame

(¥ isecqualtothe atmospheric pressure
{1}  deereases

Plane angle and solid angle have :
{1)  Dimensions but na units

{2} Nounits and no dimensions
(3] Both units and dimensions
(1) Uniks but no dimensions
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Broglie wavelength (A) of
momentum (p)15:
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A square loop of side 1 m and resistance 1 {1 is
placed in a magnetic field of 0.5 T. If the plane of
loop is perpendicular to the direction of magnetic
field, the magnetic flux through the loopis:

(1) 0.5 weber
Z) 1 weber

(3)  zeroweber
(4 T weber

The dimensions [ MLT ~2A ~2] belong to the::

(1)  selfinductance

()  magnetic permeability
(3)  electric permittivity
(4)  magnetic flux
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et Tl i e & oD in the same region of the screen 15=
5 i OO I {1y &
1y 8 9
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3 magnetic field strength of an infinitesimal current
p i A o e ¥ =[T&Te & element (Idl) of a current CATTYINg conductor only.
HEq o7 T I:].‘l'i'- = ?}ﬁ]ﬁ S AT !:l.ntcpme-.n'l !l: . - g
i —— . Biot-Savart's law is analogous to Coulomb’s inverse
(§79) 1 S Fa o v | square law of chargeq, with the former being related
FE 1 to the field produced by a scalar source, 1d1 while
a7 wEe T g, sTEw g e 6 =t =11 the latter being produced by a vector SOUrce, q-
faaq & 3P & food LTS s1fes HiE Idi B In light L.'ll' above statements choose the most
= &5 & TR, et A AT A e .lajElE:fFrmtu answer from the options grven
= T ey T T e 2
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g FA & AT |, FE T faFeg 9 8 incorrect
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) ] A S T R @ ;‘:‘:':““ . T
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1 U EE § fE e T e -
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7%, A9EE % =24 & A, =EE g =1 |1 resistance :
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(2 e e oI L e % fer a. HI..‘!IllCL'I-I.'IﬂIJ:CI'i.'lni _
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T TR oz 79 ey MR 2000 kg ( Frrms+apt)
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(1) 20000
(2) 34500
(3 23500
(4) 23000

i __E——__

] 5 ¥ vitational forga
i A PJﬂﬁ‘d ﬂF el fi IL‘I intensity at that
magnitude of the gravitational fiel y
hH

poant s :

(1) S0N/kg
(2)  20N/kg
(3 180 N/ kg
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i 3 ant X is

In the given nuclear reaction, the element
ﬁ”ﬂ 23X + et P

i
(1) ipNe
(2) E"'{i'
0 n*

¥
() Mg
(4) ;;\n

The angle between the electric lines of force and the
equipotential surface is -

(1) 45°
2) 90
3  180°
@4

A copper wire of length 10 m and radi
(102 W ) m has electrical resistance of 10 (1
current density in the wire for an electric field!
strength of 10 (V/m) is -

(1) 1A/,
(2} 1073 A/m2
@) 10° A/m?2
@ 10% Aym?

The ratio of the distances tra velled by a freely talling
body in the 151, 2nd, 30 414 yih second:

(1) 1:4:9:1%

@ 1:3:5.7
@ 1:1:1:9
f” 1.':'.!.1:-.]

.-?'1 electric lift wigl 4 Maximum |oad of 2000 kg
1. |t715Fti-"~‘.~'l*llgl~r-;] ia._ moving UP with a constant
:JE!LL:] . of I'-': ms =1, _l.'lw frictional foree Dpposing
et 1otion is 3000 N, 1 he Minimuy, Power delivend
Y the motor to the Lift in waggs 5 (g=10ms 2
(1) 20000 ' |
(2) 34500
(3) 23500
(4} 23000
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Ty 56X10 Imt
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37. 553 m oA UE 25 m e G SR A

S (m 2 1 9, Faserw i w9 & A e
b ol o 1

3§, o (a) § T909 SHER, C =900 pF vt /& et
Hurfts =1 100 V &1 4= B F 50 {Oa: A=W
form = &) THE 9 TR A2 @ WY H 7 WA
w1 & U5 59 (b) & FFER C=900 pF 4 &6
faeft =at AT Tt F oy Wi fom 9w
frEm e AT AT Ea A e

B ik
i

(a) ' ' - (b)

100 | +
ok L&
+

@™

C
(13 3.25%107°9]
(@) 135%1070]
(3 15x1079]
i3] 15x1070 ]

- LFI = - 11 F Y o =1
-1 Hl - 11

() TEEEmTEREG) ) (21 2
() TERffEmE @ [MoiLT-7)
(c) EEE fave (iii) [LT-3

(dy  TIEEM Hiwm (iv) [MLZ] -2)
A v e fawedi 4 4 wd = W ;

(1) @)= (i), {b) - (i), (¢) - (i), (d) - (i)

(2 (@) - tll_l'r“-?ll-‘ll'r'll_,‘l,'r-[EH:L{LH_ (i)

(3) (@)~ (iv), (b)- (i), (c) - (i), (o} - (i)

@) (- i), (b) - (i), (€) - (iv), () - (i)

E ¥ LT s
l - * I_,l"
- ; ’

39.

3.

T
ke

Section - B [Physics)

['he volumae 1-.|'|'||||i.-.,1 b the molec ules contamed in
{5 ki waler at STF, if the intermolecular forces

vanish away is

(13 563 109 m?
(4] 8 hx 10" Il-ll
(3} 5.5 |1|'

||:| b= ¥ I1II

The area of a rectangular field (in m?) of length
55.3 m and breadth 25 m after rounding off the value
for correct ~.i;.1r1|Ii- ant -h.ml-. 15

(1) 1382

(Z) |382.9

(3 14 = 102

(4) 13810

A capacitor of capacitance C=900 pF is charged
fully by 100 V battery B as shown in figure (a). Then
it is disconnected from the battery and connected
to another uncharged capacitor of capacitance
=900 pF as shown in figure (b). The electrostatic
energy stored by the syslem (b)is:

C
(a) . (b)
00V | i E
pat=——g +| -
B :
C
Iy 325x10-°]
(Z) 22510757
(3] 15x1079]
@) 45x107057
Match List - 1 with List-11:
List-1 List - 11
(a) Gravitatonal (i) [LAT—9)
constant ()
()  Gravitational i) [M=LIT=3
potential e Nergy
() Ciravitational (i) [LT |
potential
(d)y Gravitational fiv) [MLAT 1
Inkensily

Choose the gorrect answer from the options givern
barliovw

(1) ()= (i), (bY - (iv), (€} - (i), {el) - (i)

(2} (@)= (i), (b) - (iv), () - (i), (L) = (1)

@) (a)-(iv), (b} - (i), (e) - (i), (d) - (4i2)

(4) () = (i), (b) .|'i:|._-;'.'_:I-|:J'-'.|.““-Iim
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. e ¥ 10 € 5
. # | 40. Two pendulums of length 121 cm an tary
40. 121 cm T 100 cm FATE AR & JErE FA mﬂ_ vibrating in phase. Atsome instant, the twoare
F FIA G w0 £ R A their mean position in the same phase. Ty,
ot T srEenal @ el o £ 3 minimum number of vibrations of H’_‘? shartg,
Se & =gAAN FeE ) we B, 96 g A pendulum after which the two are againin phase
?T;j'f for 3 T el T T ﬁ'.g“rﬂ : the mean position is :
m o 24 cn — Ivocy, P
@ 10 » _ 2 10
X i
3 8 o % (3) 8
@ 11 g i ) 11
4. F=Ea fﬁéﬁ?ﬂﬂj 5?}_2—;5 ill E??__'.I.M' LA P Given below are two statements : One is labelled as
T & U8 SHT R T4 1 Assertion (A) and the other is labelled as Reason
s (A) : ®).
Pt fe 2 e (14 9, W Fn G 3 | Assertion (A):
HTET O B WRefe G g | Thestretching of a spring i i
F B T g of a spring is determined by the shear
FA(R): modulus of the material of the spring.
e o g i F T s, wA RERegn (R);
oF e it D B e O A coil spri
oy Al =16 %I 5T 3 549 a1 § ] FaGidd| COL Spring F'_f copper has more tensile strength
: S FuA F o 6, A T M fomedf o & than a steel spring of same dimensions.
7 - B T T g Ta:l;fl'lrili%?ttuf the abrn;eslateummfg, choose the most
¥ (1) (A) T (R) 2 7 & g (R), (A) 3 TF propriate answer from the options given below :
B, = R (1} Both (A) ﬂTd (R) are true and (R) is not the
11 correct ex il
. q_ . {Mm?ﬁam}m%l 3 | ct explanation of (A)
8 i) s (2] (A) is true but (R) is false
£ ““-1;.}. {M;"‘-mﬁj ﬁ;ﬁ?ﬁ{:jﬂ;ﬂr%l (3)  (A)isfalse bit (R) is true
% Sl Hrg : :
$ & US(R), (A) =1 T¥ =3res (4)  Both (A) '-.md (R) are true and (R) is the correct
ﬁ. explanation of (A)
= u- h’-‘j:ﬁ 1‘1-7."; 3 o= o 5 n %
TG B AR 60 B I R 1o 135 | 42 A ball is projected with a veloc ty, 10 ms~1
A vélim fEmam &) g 3 P . ey
- _&-E[Egﬂ mmm ang!g of 60° with the vertical direction. Iis speed at
FH@] BN ; [ ,..}—‘_.LIETJ E the highest point of its trajectory will be -
(1) 5/3ms1 I (1) S5 3ms !
(2] 5mg! 2 Sms-1
(3) 10 ms? X (3 '
\ 3 10 ms—1
) o e
-, 4)  Zero
3. I T A v g, Fa - ;
ATTH T E Bl Tl e witw g sem- | 4 Two bransparent media A ang Bares
9 [I:Iﬁ- I E‘r S A g + = F plane bay ndary, The speed of }f.i: }E[::r.ued bya
X107 m/sTH2.0 % 108 m /s &) 37 et psareit 5 are 1.5 108 ] SN those media
T | 3 i "",I'IIS and 2.0 % i i
FeTe, Tobren 2 501 91 T e ] The critical angle for ©UX10% m/s, respectively.
w ; 8 aray of li ’
: is - Y otlight for these two media
(1) sin=1(0.750) .
(2} tan~1(0.500) (1) sin=1,750
()  tan—! (0.750) ¥} fan- '(0.500)
@) sin~1(0.500) () tan=1 (0750 .~

4 sin- '(0.500)

A P
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-

B—1

2 Ty ) 5 oA
fo T AHNE fon M 9 R

— A
| A=
< »r— P

L
R

i AR

i r‘
A .l". : 1
\ |
B | C
1] o | 0
1 0 1 1
] | i} | [
1 ] 1
h B e
|_ i} [
0 ] 1 ||
1 1

1
1| T

10 wF s UE 50 0 ¥

oE &viEg LCR Ty, V =200 sin(100 t) volt

s YA T (a.c.) B HTE e e
ofio &7 STATE A v, TE ac HE H

eyt
541
= — Hz, v=50Hz
]
v = 100 Hz; I_UL H

v="50Hz

5 i ST, REaAEE Ui ALY & AL

T g SAE WA X % 5 A6 H 6

Fe w2 g L e e # X O wEi

Z9gEa HI9A & o iE s PUE Q -

o
~ '!'I‘r‘l'f' |
SHT
¥
= 8 .0
W'l f
[ % 3 Al |
JF P
| |
|
= 1 [1
l

T A T ST Ir_-s' T a3 e |

T T2 v SEHEA EA e

& url I wd e

i B T 2X i A o SE WA e |

45.

—
e truth table For Ehue govet levgp Ircuit 15

A B | ¢

0 ii]

i | (i
I]l' | (] | ]

1 1 ] 1

A H {

T

| | I £l
(4) | 0 | |

1 1 1]

A B | [

o 0 l_ '

0 | ]
() 1 0 | |

1 1 1

A B | G

[N} [a} 0

0 1 | ]
(4] 1 o i

1 1 | A

A series LCR circuit with inductance 10 H,
capacitance 10 pF, resistance 50 {1 is connected to
an ac source of voltage, V= 200 sin({100 1) volt. 1f the
resonant frequency of the LCR circuitis v, and the
frequency of the ac source 1s v, then

@) v,=v= = Hz
rl} (]
@ v, =— Hz,u=50Hz
1] I
(3 v=100Hz;v_ = L Hz

@) v,=v=50Hz
A wheatstone bridge is used to determine the ¢ alue
of unknown resistance X by adjusting the var iable
resistance Y as shown in the figure. For the most
precise measurement of X, the resistances P and Q!
I J."f" Ll:'\
./.H L L\\\
| *:\ (E—g-‘ ;
: Vo
| Q™ I 1

| — i |[——

E
1) ghould b .1|:I|,1II.I\..III.hI.[l'|-I. -.-.|u_1_l.||n| are small
{2) should be very lange an | el
(H) do not play any significant role :
(4  should e approsimately el o 2%

www.skresult.net
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ER AR T = -

HInd B
T2 12 e Ergha
' 47, uftgm ¥ vfteda fram F SR, gaER SEEE FE | 47 From Ampere’s circuital law fora long straight wip,
e =Tt TRd! T U S A e O e of circular cross-section carrying a steady ._fc"“rent,
/ MR WAEn 1 76 8, 9 A 3 ST uA 4 6 o ”“; ‘_-'-?rfatic_m ufrr;:gngnr_ field in the inside ang
’E'GIF % : oukside region o B WIre 15 ; ,
i ﬁ[E' : . - y (1) alinearly increasing function of distance upy,
1) ﬁﬂjﬂwﬂ- iﬂ"ﬁ--- : B .:I WFJ the boundary of the wire and then linear]y
WY ¥ | Sl %, UH T A% A & S decreasing for the outside region. -
CER R Rk kol 4 2 : : : -
~gd = 3 = {2) i |mE'.|rI_',r' increasing funchion of distance r
) fj-l-—'r__q"'_!ﬂm A, @T?; et w0 H ik upto the boundary of the wire and then
S H W ¢, UH SH 4% A% 6 A decreasing one with 1,/r dependence for the
&3 H 1/ e & Y w2 outside region.
(3 m’{__qﬁ WE_@ & Ter ﬁ; w7 H 9ie )] a linearly decreasing function of distance upto
@Y w9 § w2 £ Ud sk A an i A the boundary of the wire and then a linearly
83 & e 9 R @ | increasing one for the outside region.
-t UFEHGHE TS =41 46 F fou fen mm i (4)  uniform and remains constant for both the
e — regions.
48, 100097 UF 10 m F sita o = s ad g
N 1’:_ Feef, ot S =T F WA 2 rad 51 23 T D 48. al"tubigil:ln'ular_rmil of 1000 turns and average radius
Fid TR e o et 3 g M 15 rotating about its horizontal diameter at
L 8" = c y 3—“3 '!'-'i‘il'Fl' W‘ L) EH, iy E;]?EE 2 l'dd 5—] "’ th'l'_" 'I-'{'_"Ttll_'n'lr compao f f th_.
m:m?ﬁfm’!xlﬂ—:'r?‘ Em%ﬂ@ oy ponent of earth’s
O S W T 1256 0 & 7 e § magnetic field at that place is 2x10~3 T and
?:E* S ? 11256 118, 1 Ei"a't"ﬁ H uftq um w5 electrical resistance of the coil is 12.56 £}, then the
o r" HEF09 | B0 : maximum induced current in EhEED:IJ hﬂ.ib?
f (1) 15A 1 154 N
: ol A 1a (2) 1A
A "‘-:‘-'E 2 2A 3
i S : A (3] 2A
"‘r?f-' (4) 0254 {4
| ) 0254
v 49, ﬁ?ﬂﬂm_ﬂ_ﬁim:qﬁ +qF, Lz 49, T?a,rn. point charges —q and + q are plac
RIS 101G B et distance of L, as shown in the figure.
" —q :q _:q _l'-l
s ¥ L > — L
SR (R>>1) & W, oo &9 =1 e =1 wimm The magnitude of electric field inge
feet— S 2L A LSRG 55 W d intersit aba ds
= ]q—ﬁaﬁq LI R {R=>L) varies as - ey ad
~ o L 1
L N M 3
1
o 1
R* (2 -
R
1
(3) 5
E (3) —1
1 R®
4) =
f R (4) L
. : R*
50. 189% : S :
- ?_-TH'E :_Eﬂ-jrﬁ! HEF' _'"f“q?', 25 74 64 BAA 50 A
V] 7 71 iyt TI | EF AT A = © Anucleus of mage it
St £ : LAY =i e imber 189 splijg , -
FH: TS w5 e & VNG Mass number 125 g egf o WO two nuclet
(I} 4:5 i (4o 0t two daughtey rluclm'hne';nuu.i' Fhe ratio of radius
@ 5:4 P M. 4:5 pectively is
(3 25:16 \5 6™ (2) 5:4
—4)  1:1 L ¢ B) 25:16
L 4 19 |
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AU - A ( THTIAYIEA )
) T & B e e T ¥
el .
e e ¥ e Ferg, fre T iR SAEETT
ety AL L EH
AP+ > Ba?t = Na’
FaAll: . _
e (T2 s = et # i o i wEl @

e WA B:
NaCl > NS0, > NagPO, -
e e el e B 1 LS famredi 0 A
ey S T HE

He | S HAT L vt e e

l.-|'l
o)  wEAITHE iy WA 11 T iR
ey aamwﬁwiitnﬁqmaﬁnmﬂ?l

(4) o 1 S 1A i E |
e o %E o A TR A R/

~ Ty s mﬂﬁ?ﬂ%ﬁﬁl
@) ﬁ*:aﬁﬂfﬁ#ﬁﬁﬁ-mm=@mﬁ'
S g A Hal T A WA € |
(3) 9 g8 TEETH H1 5 i | i
£l
P e i R
1 gn s Tl G S ol €
PG ke ﬂTIFiH?EF'I%'
=3 i 8 9T S o A e
) A TE-TEU T syeaafoa =4 wiafa=
ALl ah v &
) e S g A v e S ¥
@ Su e 2 westE w1101 A
R :
54. RMgX +COy  YF IR, ¢ _H0' , peooH
o 8 T e Y R .
(1) 1{51_'['1‘!'9*19,‘ X
(2)  RCOO-X*
(2} {:Ié.t".i'l'_u:ru.g
{4y  RCOO~Mg*X
55. U M EERERE L Fpreit e & 0,5 i 29fEE
_?:I’H} E.. .:i-x;.- - 3 l“.... B
(1) T & 500 g ¥ ¥ il
() T & 100 mLEA B 0>
(3) fEeEE % 1000 g ¥4 T e
—) fomEwE 500 mb EA ¥

51.

53.

55.

Page 12 of 44

T2
Section - A [Chemhlrﬂ

Given below are pwo skatements §

Statement 1:

In the coagulation of & pegative

||n1,w|'uF1'I|.|~11|.|-|-t-j*,:-.r|-n ions is in the order -
.J”'.I

gratemaent 112

i1 the coagulation of a pos
tHaree ;.rn-'nu-mil'- is in the order -
|

sol, the flo yooulating

» il = MNa g

iHive sol, the flocculating
||1-I.\.'l.'|'rbl the

NaCl > Na 80, > Na;PU, 2
In the light ol the above o ko berments, © hoose the most . igere
appropriate answer from the options piven below ! :
(1) Both Statement I and Statement Il are

incorrect. :—ﬂJﬂjf?‘.
() Statement [ 15 cof cect but Statement 11 is 5 ':#I.

incorrect . TN
(3 Statement [ 18 iNCOTFE ¢ but Statement IS

correch, !
(4 poth Statement 1 and Staterment 11 are correct.

Which statement regarding pf ly mers is nok correct 7

(1)  Fibers possess high tensile strength.

{2y Thermo plastic polymers are capable of
repeatedly softening and ha rdening, on
heating and cooling respectively.

(3)  Thermosetting polymers are reusable

(4) Elastomers have palymer chains held together

by weak interm plecular forces.

The incorrect statement regarding chirality 15

(1) The product obtained by Sp2 reaction of
haloalkane having chirality at the reactive site
shows inversion of configura tion.
(2) Enantiomers are superimposable mirror
images on each other. o
(3) A racemic mixture shows Zero optical
rotation.
4 Syl reaction yields 1 = 1 mixture of both

enantomers.

- d- i .
RMgX + €Oy —per ¥ - HO™_, RCOOH

What is Y in the above reaction ?

(1) RyCO Mg*X
) RCOO™X*
@  (RCOO),Mg
(4) RCOO™Mg*X

i one molal selubion that containg (0.5 maole @

golute, ther 15

(.  SMgol solvent
(2) 100 mb ot solvent
(3 1000 g of 5.|.1h.-'l.'l'l-|
(1) 500 mL ol golvent

www.skresult.net
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-

¥y

f}ﬁ ¥

T2
56.

-

37

— (4]

Ht - LRt - 115 T e e
o1 - 11
(ETEgTEE ) ( wepf)
{a)  MgH, (y s s
() GeHy (i)  FerERTA A
{© ByHg T < (ili) TEERT IR
(d) HF.- Yiv) Sl

At feu T fammed 9 wft I A
(1) (&) - (i), ()= (i), (c) = (i), (d) - (iv)
(2} (&)~ (1), (B) - (i), (c) - (iv), (d) - (iil)

—{3) ()= (i), (b) - (iid), (c) - (iv), {d] - (1)

(4) (@)= (iv), (b) = (i), () - (id), () - (k)

4 3 Fem fm o #
HUF:

Ufemest sl #1561 # fowa-foym si=atEm %
T % A HAgE v g T
Ea: eI E

T3 S 1 3o 4 - 77 et 3
FO FHER )

U T FA & wad A A o et 4
TE 2fe = gfw

(1) EWIHﬁTmllfﬁﬂﬁﬁﬁffl

(2) e 1 T % g e 1w R

() T 1 98 6 ¥ g w2
FG 1 7 FowT 11 3w #

) TR -1 & i

R -1y
. % Ty arfuli )
R Y i, ST
&) Wiz i RNH,
€ T s (i) e
r"rll @) agn {iv)  HCN

A few - feret w3 A
(1) {d}-[iu,{lu-nji;.::;;-(w;,{uj-[.;
@ (a)- (i), (1y- (i), (c) - (id), (d) - (iv}

) hl}-tw].[hj-[r‘:’:}.h‘}-l’iiL[di-lﬁi}

) @)~ (i, (b)- iv), (c) - (i), (d) - (3}

14

56.

58.
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[Hindl Engiggy

Match List = I with List - IL.

List1 -~ Lis-I
(Hydrides) {ﬂ-lfum}
() Mglly {i) i':"“—""—‘" ‘;“—-L.]:w
i) Geld |‘ (i) Electron . .4‘.'f|L ien|
{c) By, {iiiy ~ Electronrich
(el | I-I-' fiv) lonik

Choose the correet answer from the options give,
Derlgvwy

(1) (a)- (i), ()~ (i), (c) - (ii), () - (iv)

(2) ()= (i) (b) - (i), (€)= {iv), (cd) - (iii)

(3 ()= (1), (b) - (i), (€) - (iw), (d) - (D)

(4} ()= (iv), () - (1), (c) - (i), (ch) - (i)

Given below are bwo statements ;

Statement I

The boiling points of aldehydes and ketones are

higher than hydrocarbons of com parable molecular

masses because of weak molecular association jn

aldehydes and ketones due to dipole - dipole

interactions,

Statement I1:

The boiling points of aldehydes and ketones are

lower than the alcohols of similar molec ular masses

due to the absence of H-bonding.

In the light of the above statements, choose the most

appropriate answer from the options given below

(1} Both Statement I and Statement 11 are
incorrect,

(2)  Statement I is correct but Statement II is
incorrect,

(1) Statement 1 is incorrect but Statement I is
cormect.

(4)  Both Statement I and Statement 17 4 re correct

Match List - 1 with List - 11,

List-1 List=11

(Products formed) {Reaction of carboayl
compound with)

(a)  Cyvanohydrin )  NH,OH
4] Acelal (i1} EMNH,
() Schiff's base {iii) J|Ellh:l]
(d)  Oxime (v} HCwW

Choose the correct answer fro
bl ;

() (@i (0)~ i, () - Giv) . i
(2) () = (i), (b = (L), [c}-{ii},{n.l]~[il-'j
(3 {a)- (iv), (b)- (i), (c) - i), (d) - (i)
(4 (a)- (iii), (b)- (V) (c) - (i), (d) - (i)

m the options given

www.skresult.net
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RTINS T

T 1
!i—iﬂ:|-l|:'1.|l-lj. 15 12
59, o L T DR & Fyom fem PoATE I d 5 | 5% Which one i3 rHII11-rn-l.!|i|:1|.u|||1‘11ln1||rl I';Iqm:“”'.m:I:I.,r| :
- AR v : e [aw of pardal presaurs gre =t L
A=y TiferTe WS W] TR p fraft | Dalton's Law of partial pressut | ¥
O (Rl LI ool s s bt
il iB LR it i w1
11 T 1 | iy PEhE T Ty PRy
Q) pEWo the T ; ' o
. | (1 pexgpe where P partial pressure of
i S P L p, =181 T i = ' it gran
== friro H 4 416 o = mobe frar tiam of i
7 HvE- i pas lr Easenus
LB = o wi i
GBI p=xl =i fraftes Erpag 8 =41 T THRE ;
1 HiF - HE (]| n=x;P ' owhete x5 mole fracton ol i f
o 1) L pas in gaseous mixture .
= 1!:_: s o =l YT 4 2 4 E
o e p, = prossun afl ™" gas .-_'_‘,._
fm priare stale T |
4k pEn TRz Pa (i1 pm g A ety
il i TEEs fil, wiateh List = L with List =1L $
HaEi-11 List=1 List-11
( e 3.1111; (Drrug class) (Drug molecule)
i e {a)  Antacids ||j! Salvarsan
- ) Antihistamines L) Mo pime
; n T ; T
. S (] Analpesics ity Cimebdine
“wJiii) HEEE () Antmicrobials (iv) Seldane
(v HEEA Choose the correct answer from the options given
e e [ below
oy (et (b) - (i), () - (i) () =41 () ()= i), (b)- (i), (©) - (), (d) =10
¥ 2= N NERE
2 ()« (i), ()= [ivh 1e o i}, () = (2] lfj'l (a) = (1) (b)) - (v I (c) E:ulj () ||.1|_|
@y (a)- vy by - (i), () - (), (d) - (i) () @ [-j_-'].tlﬂ.-t.1_1u.¢-:‘.--1_l|.lt_11l i)
(4} (m} -t B3 = (&), () = L {dy-Li) “ {a) - {m) (b) - (11}, {€) (iv). ()= 1)
i e s g F 61.  Givenbeloware o statements
. e Statement 1:
L _ The boiling points of the following hydrides of group
1AW E EESEEl 9 EELRIED faeiciEg e o 16 elements increases in the order -
1'1-_-.1--" = ] i_-l"‘i = ! i:."‘l_‘ = H.-_| l_ll'.
cH S« HSe<H e Statement 11:
y : - The boiling points of these hyclrides increase with
= o - g e s increase in molar moss
3 TEEGS W FAh ot EeaE 1 9lE it HiY i
T (n the light of the above statements, < hoose the minst
: - == appropriate answer from the options given below
SR Ul 2 ot e L LU fareni O 8| (1} Both Statement 1 and Statement [l are
E 2ed T T._."?‘rnT : incorrect
(1) wEE | e A 17 R E | (7 Statement | I cormect bt Statement [ i
- e R - 5 4
Q) e | B ui e 1 e fncorTes
; o : o M Statement | s incormect put Statement L5
3 A AE T b W e LEE A i
(4p HEAL s ameA 11 & e # (4) Bt Statement I.m.l."rl.*.ldun:ntIl---l'-'“'f""l
i 62,  HEE [AplH, O] Ag(CN),) F1ILFAL AR 62 The lUPAC nani ol (e complrs
X i . et ~ ¥ ' Vs oLl
F (1 SR (L) BT i'I'J-I:'-"IH] h|‘h” : : I” 1.“.:". IJIL!IIIM yaitislnargs pntaie{ H]
o prErtio AL Lk |L.|.|.|||L|'-t W'l LS , ' ;
(=) Srgr Rt eI ZE(]) 2y ._|.|~\_|||||.||..||-;.-||_||~|'-'-'-|'|-"“P-‘":":' :::
. i : st igeeni L
(3) S ) agmratTEze) () disguasitveni!] dlcyanidoargentatil
- / il l|||i-|-|ll-'--"'-'."'”'”' (1
{4) diovanidostvarll

— i EErCrETRE ) L)
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63. =S T deafm we ¥ fau frefefe 3 i
F- 39ge § 7
(1) S, NaNQ,, HCL CuCl

=,

&
2 L‘\h‘ |_.:||+.'|

o _NH;
o

(4) F=H, Q1 FEE el )

64. o Fus Ru AU T H UF T AMEDT (A)
.ﬁﬁ%{nﬁ;m%mﬁhﬁmlﬂwh
ifiqererT (A) ¢ 1C), 1, B st sfafarmmite &
HEUT(R):  1-Cl HEY -1 3EH 8 gae s i
w07 feu o sl & ded A, A= fan o fawedi A g
TEH 3 30§ : )

(1) (A) S m)=EER EOR(R), (A) F wdt ==y
781 #1

(2) (A)@E B Wi (R) WE 78

(3)  (A) T EI E WA (R) FEE

@ ;ﬂlmtlllﬁ‘ﬂﬂ-ﬁﬁtﬂi.mmaﬁrm

65. T o [l wH] 1% 119 8, # IUPACTM &

- HCl, T w

1) unnilennivm
=2y wnununnium

{3) ununoctium
4 Ununennium

66. 298K, Cu® (Cu,Zn?+ /Zn, Fe?* [Pe SR Ag+/
Ag F TF TEIE NS FW 034 V, - 076 V,
—044V FT 080 VE|
I ST [ & e W, T Siee T
T=feten 4 8 Fim-9 afufen 75 2 g5 &7
(1) CUS'::'_-.I:E.'L'F}+I:L‘{5}—i]?lm_1[-d{|]4CLJI:.‘:'-}
{2)  FeS0,fag)+ Z1s) -+ ZnS0,(aq) + Fe{sj
(3] 2CuS0(aq)+ 2Ag(s) — 2Cu(s) + Ag-50,(ag)
4 C u.‘:'-'i.},.{aq_] +Znlz) — J’.n‘:‘ﬂ.’h[;:q] + C.Tu:s.J

67.  Trerfefaa A § 4 #m-m v dfve el

7

¢ K Y
e | (‘/

.

s
i

(2) /
e

-~

/

[}

16
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[Find i

63.  Which of the following is suitable to Synthesiy,
chlorobenzene ?

(1) J'lwrm!,NLINE]:,HCF.CLI(']
Iﬁ-;:‘-:"""x\_l

n =

@ [ ¢

Sy

C ]
(3 | [r

S

(4)  Benzene,( 1, anhydrous FeCl,

NH,

. HCI, Heating

6. Given below are two statemenls : one is labelled ax
Assertion (A) and the other is labelled as Reason
{Ie).

Assertion (A): IC is more reactive than L.

Reason (R): I-Cl bond is weaker than I-I bond.

In the light of the above statements, choose the most

appropriate answer from the options given below

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A},

(2} (A)iscorrect but(R) is not correct.

() {A) is not correct but (R) is correct.

(4)  Both (A) and (R) are correct and (R) is the
correct explanation of (A)

65,  The [UPAC name of an element with atomic number
119 i
(1)  unnilennium
(2)  unununnipm
(3}  ununoctium
(4]  ununennium

66.  At298K, the standard electrode potentials of Cy2*
Cu, Zni'*;’?_n. Fe’t /Fe and Ag™/Ag are 034 V,
—0.76V, —0.44V and 0.80 V, respectively.

On the basis of standard electrode potential, predict
which of the following reaction can not occur 7

(1)  CuSO, (aq)+ Fe(s) = FeS0(aq) + Cul(s)

(2)  FeSO,(aq)+ Zn(s) — ZnSC Yy laq)+ Fefs)

(4 2CuS0,(aq)+ 2Ag(s) = 2Cu(s) + Ag-50, (aq)
4 CuSO(aq) + Zn(s) — Zn50,(aq) + Cul(s)

67.  Which compound amongst the tollowing is not an
aromatic compound ?

www.skresult.net



El.m:_laEn;EI. 1

(8.

b9,

7.

Fﬁﬂq ?[F"""

(1) g e g ¢ o i A Ll d
#11 sp TR P & S rRrgE ap? TR

#]

(&) #11 fr irEEe gEE i el = A
' S feem = B

() wiramiEEd FerFrftey AT B o |

Fa S wa o €

o1

o At e HNO, ¥ Wu siufE
B STEVT ?ﬁ‘.n"‘fr_r[rma-?n £

FaTI:

e .'—.nﬁ,z:u'-nmw ¥ e FufED g
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(1) (A) 2 (R) 2F1 BE1 ¥, W (R), (A) F1 FE@
=] B
(2)  (A)®EE, T (R) TE A ¢
@) (A)EE A E, i (R) HE R
(4 %A]ﬂ!tm;é!ﬁmﬁt%ﬁmm_ (A) FHE =
|

b4,

70.

T2

Choose the eorrect statement

(y Diamond is covalent and graphite is iomic.

Diamond is sp? hybridised and graphite is

(2}
spt hybridized

(3 Both diamond and graphite are used as dry

[ubricants

- i
@y  Diamond and graphite havi rwo dimensional

mebwork

Given below are two statements

Statement 1:
Primary aliphatic amines react with NG, to give
unstable diazoninm salts

Statement 11:

Primary aromatic amines react with HNO, to form
diazonium salts which are stable even above 300 K

In the light of the above stateme nts, choose the most
appmpnatc answer from the options given below :

(1) Both Statement 1 and Statement I1 are
mcorrect.

{2y Statement I is correct but Statement Ilis
incorrect.

(3)  Statement I is incorrect but Statement 11 is
correct.

(4)  BothStatement | and Statement [l are correct.

Given below are two statements : one is labelled as
Assertion (A) and the other is labelled as Reason

®)
Assertion (A):
In a particular point defect, an ionic solid 15

electrically neutral, even if few of its cahons are
missing from its unit cells.

Reason (R):

In an ionic solid, Frenkel defect arises due to
dislocation of cation from its lattice site to interstitial
site, maintaining overall electrical neutr ality

Ini the light of the above ctatements, choose the most
appropriate answer from the ophions given below

(1] DBoth (A) and (R) are correct but (R) is not the
correct explanation ol (Al

(2)  (A)iscorrect but (R) is not correct

{3) (A 15 not correct but (R} is correct

() poth (A) and (R) are correct and (R} i# the

correct L~x|'-|n:||=|r|.l.|n of (A)
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can b usod o estimate thi amunint oF nitrogen
whicly one of the Tollowing compoun In ?
o L
NT
:iul.
(2) r “
& NN '
0l T ]
Ny
y
(4) [ J
72 Which of the following p-v

maximum work done 7

Clbrvae represents

\ Isathermal
\

P b
(1)
v
| et hisr il
(2) P
l |
W
|| lothermma|
[ | |I||I
(%) |
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v
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A0, 4 ;‘.l.it la ) 4 [ ““.l'.‘fl_mn t (':Uzl.}'.l + 1”2{.-'”!.
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T2

W kiels of the following statement is not correct about

dibarane F

i1 e fonir terminal B-11 bonds are two centre
P electron b WS

(he four lerminal Hydrogen atoms and the

{4)

iwo Boron atoma e in one p!.-ml
(3} Basth the Boron atoms are p* hybridised.
) [hoete are two -centre-2-¢ I-rlrnn bonds

solution containing 50 ml. each of

I'hae LIII ol the
and 0.01 M acetic acid is

010 M sodivim acetals

| -|-.|4|||| InI"'IIII!III 1F 1 t_j_'.-'l
(1) i,

(2] 1.5

[IL)] 2 i

(4] 5.57

Which amongst the following is incorrect staterment |

(1 C5 molecule has four electrons in ks two
degenerate 7 molecular orbitals

2 H_'. jon has one electron

(3 0! ion is diamagnetic.

() The bond orders of 05, 05,0; and o

are2.5,2,1.5 and 1, respectively

Amongst the following which one will have
maximum ‘lone pair - lone pair’ electron repulsions ?

(1) IF;
(2) SE,
(3)  XeF,
(4) CIF,

What mass of 95% pure CaCQ, will be required to
nettralise 50 mL of 0.5 M HCl solution according to
the following reaction ?

CaCOyy +2HC ) — CaCly gy + COy¢ + 2H,Oyy
[Calculate upto second place of dec imal point]

(1) 132g

2] 365g

(3 950g

(#) 125g

Identify the incorrect statement from the following

(1) Thi oxidation number of K in KOs is + 4.

(2) lonisation enthalpy of alkali metals decneases
from top to bottom in the group

(3 Lithium is the strongest reducing agent among
the alkall metals
4) Alkali metals react with water to foro their

hydroxides

Gadolinium has a low value ol third fonigation
enthalpy because ol

(1)
()
()
(4)

g b exchange v ibhalpry
higli electromegativ iy
Iuigeh Basice & Prar i b

sinall sl
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80, Freferfn ww fedt sfafn &7 awfant & 9
B

| fEmAm T
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"
|
|

mﬁ?wm#uﬁrﬁmwa- fomt y 3T o
Fav: ¥ .
() = FfE (y=izm 3 v =a9m), v i

(v="7 Feeri & = wigam)
2 THEFREy= ﬂdﬁn—maaanmw=r

ﬁﬁ-m
(3)  TEAFMR (y =2 3y =iz, WeH e (iy = T
-}'ﬁ-lr'l._l_:l
(4 T‘IT-‘FI'FE(_.; Wﬂ’d-ﬁ?1—m‘ﬂ'ﬂ'ﬂ"#fﬁ"
(v=t,_ MM x=nfzmm
§1. TS| F o em e f 81.

~1 mﬁmmﬁw%ﬁmm
mwﬁnmhnaﬁmmaﬁﬁu
2 TenueEEET R )
3 mrrstrﬁm”tﬁﬁuﬁmmﬁﬁwmar
fem Al fafere 7

4 r'-—:'.'rq-ﬁaﬁra-'—'ra%"l

82. mﬁﬁaﬁuqmmaﬂwﬁ| 82.

(1) wmmwaﬁw‘hﬁmﬁwm
nﬁ?ﬁ‘t‘aﬁm‘rﬂm?r

(2) foe o menmﬂwwmzﬁ
mnﬁmﬁl

~A 4,4, 3 , FE] it Al T T H
wuﬁm?rrfamf-_ 2T 2 F Tl v
m’ﬂ-‘-ﬂ"ﬂ'ﬂﬁ‘l‘ﬂ?l

() mntrra:.aa-aﬁﬁmmrnm 4 Tyl 4 fi
HAHT F 21 F |

83. 3 1 Fe afufsnd 2 i § .
MnO,; +BH"+ 54

.,

- Mn?t4 4 Ha01,
r“.‘llll y S MIn0y —1510v

2 Q2 t2H 426 g
E.r-_.lxj L0 =+1223y
| T 1 ety § e s MnO; W& #
O, 7 Fiy 7
(1) 7, FE B = — 0287y
2 & RME Ey = +2733 v
(3) ?a“f HifF Eyy = —2733 v
4) & it Edm = +0.287V

83,
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IIH'“:“'EE%-

i i sf Kinetcs ,,
The given J-”'t"'l-"h 5 a I‘gipn_-:-pnh'l.lliﬂl ol Of
. ]
reaction,

| Constant temperature T

J—

I — S
1 s lor tenct
The yand x axes for zero and first order reactiong

respectively are

(1) zero order (i =concentration and 1= time),
first order (y=rate constant any
J=concontration)

(2)  zero order (y=rate and 1 =concentration),
lirst order (i =t,, and 1 = concenration)

(3)  zero order (y= rate and ¥ = cancentration),
firstorder (y=rate and 1 = L.

(4) zero order (y= concentration and 1= fmi),
firstorder (y=t, , and x = concentration)

The incorrect statement regarding enzymes js :

(1) Like chemical catalysts enzymes reduce the
activation energy of bio processes.

(2)  Enzymes are polysaccharides.

3 Enzymes are very specific for a particular
reaction and substrate,

(4} Enzymes are biocatal vsts,

Identify the incorrect statement from the following

(1) Allthe five 4d orbitals have shapes similar to |
the respective 3d orbitals.

(2)  Inanatom, all the five 34 orbitals are equal in
Energy in free state

(3} The shapes of Ay d,., and d_. orbitals are
similar to each ulhl_-r and d.2_ 2 and d >
aresimilar to each other,

) All the five 5d orbitals are different in size
when compared to the respective 4d orbitals

Given below are half cell reactions

MnOJ7 +8HY4 56~ _, Mn**+ 4 H.0,

FM,L.--_,A.,,,“-L = ~1510V

5 Q2 +2H 420~ HL0,

Eoy/t1,0 = +1223 ¥
Will the pe rmanganate jon, MnO,

liberate (3, from
wialer in I.I‘I.L" I!rl""lll'l.l. cofan Ac |L| ;I 3

(1) No, because Econt = — 0287 v
(2} Yes, because Bl = +2.733
(3) Nao, becaugp Eep =-2733 v

) Yes, because Eeen = +0287 v
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—— T2 ?'wm'
: L

[HirgisEnglis | 21
J A
. & .1||.11'|~i'|-lu|LI-.Ii_-'-t-I'I
. Tl IS TN iy i lgis.! T List-11
-{:Fﬁ_] ‘Fﬁ 2 . () [ {n absorbent FoT n.n"l‘n'm.:lumillr
@ Li A SRR W sy T Na (i) ele trochemical cells
(b) Na (1) e TR HE ;u. KON (i) conlant in fast breeder reactors
(c) KOH (i) =figsTa Erraed] © e (o Cs ) photo \sctric cel
(cl} Cs (iv) wr- T HE {hosose the correct answel from the ophons given
A ey 0 faRedl A it 3w g bolow
(1) {a) = (11} b - (iv), (€] (i, (i) = (1) (ny (@) = (1 (1) (i), (€)= (18) (Y= (1)
(2) (a) - (1}, {b) - (§ii). () (v}, ()= (k) (2) () - (1) (1) (iin), (c) (i), (cd) - (10
[T {a) - (i) :|'|-I|I'|||_-'- (1) () - () R () (i}, (1) (i), (€] (Y, (cd) = 1¥)

(4] (a)- (v}, (b) - (1 1) (i}, (ed) - (i) {4y (@) = (i), () = (i) AED (iaiy, (k)= (i)

83 = = FUA &0 T2 A5, Civen below are bwo Fatements
Ea el E Gratement 13
e A9IE el HHE 2= T eafrent |'-1|'].'|x “il“ --1I1-|-|'.-.'_I|w.-~|r u'.cmln l';lll.ll'-‘.'||'..lll il I|:|*r-l'-l}:-|:|-_':1nll 4
TR i A e AT B s T e :llllat::.::wlung_r,].':.;:.1};-.::.:]11 cause of el - el .
S oL Satement 112 ]
s frer- AR oA 7 RS penitroyphentl, 1 nitrophenol and p-nitrophenaol w ill

= Iy WEon JHA St & wifE 2 T T lave sameacidi strength as they have one nitro
e S e o - e T L GG group attached to the }||'H'||:-|'u. ring.
In the lightof the above statements, choose the most

v feu FeAl & =M H, <2 e T faweal A A : :
: appropriate answer from the options given below

3 ey e e (1) Both Statement [ and Statement 11 are
) wed 1 AR 1 EA =i IR incorrect
(2 A 1 HE g rgwE e T B {(3)  Statement 1 is correct but Statement Il is
=) Y1 T T E, WY 11 =#1 & incorrect
gy wmEm A e 1 e | (3) Statement 1 is incorrect but Statement 11 is
correct.
BIITJT‘T - B ( THEAIIEA 1 (4) Both Statement 1 and Staternent Il are correct
a6, TEEA F FoEEE 5 2 = e fAeferE : Section - B [Chemistry)
H 13-'_*':-?'1'__3"-"_':3{_’1 ¥ g giG B T 86, The pollution due to oxides of sulphur gets
(2) TIVEE Eod snhanced due to the presence of
m A== (a)  particulate maktter
— ) ?:l?';‘l;:.—'._:;q () QZONE

() hyd ocarbons
(d) Thydrogen peroxide
Choose the most appropriate answet from the

— (). ETEEA IEEE
i e o P # B AR w3 A0

1) e, (b)) aptions given below :
(2 ﬁﬁ?].l’(-},{d] 1 (a) (b), () only
— [ E:d'ﬁl (&), [c), {d) (2) (), (€}, [,_l] 1_.,”1:';
(4) Fan (a), (d) {3) {-I]. (), () only

) {a}, () only

47, e G & 6 IUPAC T &
§7. Thecorrect IUPAC name of this following comp s

¢ I;i”I is:
q B
/J A = i OH
o 2" TR [ |
| o T - e e -
(1y G2 g4 Ald |
n & bromo-2-chloro—| methylhesan a

proahexin ol

(2] ]-m..;.ﬁ:[v;m_-_l_-.F,.m'-l_—;-_h{h_]_:ll o1

e ; i ; {-bromo- ety ¢l
(%) T4 T2 AR i . hromo-4-mithyl-2 lorohexan-4-ol
.._—_"{4-! l-m-b-ﬁﬂ_I Iﬂ'ﬂ.‘rq?';nd'. || {- bromu=5 chloes i methy [hesinn- 1ol
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89,

T wgF | w1 T

91.

22

30,(g) = 204(g)

ST 4 T8 vl % i, 208K WK, 3.0% 105
I #m # 1 afz O, W e wE 0.040 M A, A M
O, #it =g .

1) 19x10—%

& 24x10M

(3 12x10M

) 438x10-3

HE - | F gt - 1 3w fie i .

et et - 11

( 3 ) ( #HET )
(@)  Haematite (Y FeO,
(b)  Magnetite (i)  ZnCO,
() Calamine (111} Fe, 0
(d)  Kaolinite (iv)  [AL(OH), Si,04]
ﬁfﬂﬁﬂfﬁﬁﬁﬁﬁﬂﬂmﬁﬁq:
(1) lﬁ!-fiii:fl[l‘-']-{iL[f]-l‘ii]'—{dJ-l{i\’}
(2 (@)= (i), (b) - (i), () - (iv), (d) - (i)
G (@)~ (), (b)- (i), () - (i), (d) - (iv)
() {a)- (i), (b)- (i), (c) - (i), () - (iv)
4 F wwm e # .
Ca-C i B
w3H v §, wbe afveds & =u 4 g
HCL+ ZnCl, % 514 31 S amiten % 209m 7
Ei & A
Ca-eilf
?lmﬁ.v—ﬂﬁa_mslfﬂiaﬁﬁm'@ﬁﬁ_ﬂ_?
3 T SV & e AT R A 5w
i e e G ¥
LU T ] & He §, 9 fou o e 6 @
(1)  FY] Avwe 1= w6 2w #)
(2)  =uT | HE R v e 1w A
(3} =wEF1HE R WA s wE i

TR AAAE) 27 & 71§ KMno, AATEEE
1 STz H awa e & 1 g st i S
] At st o ufvad o

(1) +6% +4¥

@ +78 +34

(3) +6H +5H

(4) +78 +4¥

BE.

89,

o1,
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-

'H-_ﬂ.%

~

30,(g) = 204(8) .
for the above reachion at ."!'33 k_
3.0 % 10~ . If the concentration of o
is 0,040 M then concentration of O in Mis
(1 19x10"%

(2) 2.4 x10H

(3) 1.2x 1040

(4) 4.38x10-%

K. is found oy,

O, atequili I:"J-,—_::

Maltch List - T with List - 11

List-1 List-11
(Ores) {Composition|
(a) Haematite (i) Fe 0,
(b}  Magnetite (i) ZnCO,
() Calamine (i) Fey(ly
(d) Kaolinite (iv)  [Al{OH), Si-04]

Choose the correct answer from the options given
below

(1) (@)- (i) (b) - (i). (c) - (id). () - (iw)

(2) (@)~ (i), (b) - (i), (c) - (iv), (d) - (i)

(3 (a)- (i), (b) - (i), (<) - (i), (d) - (iv)

@ (@)= (), (b)- (i), (c) - (i), (d) - (iv})

Given below are two statements -

Statement I ;

In Lucas test, primary, seconda ry and tertiary
alcohols are distinguished on the basis of their
reactivity with conc. HCl + ZnCl,, known as Lucas
Reagent.

Statement I1:

Primary alcohols are most reactive and im mediately
produce turbidity at room temperature on reaction
with Lucas Reagent.

In the light of the above statements, choose the most
appropriate answer from the options given below

(1)  Both Statement 1 and Statement 11 are
mCorrect.

(2} Statement | is correct but Statement 11 is
incorrect.

(3 Statement I is incorrect but Statement 11 is
Correct,

() Bath Statement | and Statement I are correct.

Jn_ti;_rl Neutral or faintly alkaline medium, KMnO,
axidises todide into iodate, The change in oxidation
state of manganese in this reaction is from

(1) +6w+4d
(2) +7to+3
(3) +hto+5
M +7to+4
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| Iﬂlnu“ﬁ_ﬁﬂ 54 4 firs jer reaction A —» Produocts, initial
03, e we i SRR A — SR 3 foru A 30 SRR g Por -1__”|nlr::h'1'.:::{ '\ 1 0.1 M, which becomes 0.001 M
iz 01 M TS5 firrz & =% 0001 M T 7 :.I|1lI::-|L!:, "llilm-““‘ f Rate constant far the reaction in
e ST 8 sy 1 B freies o | is
(1) p.9212 (1) (0.9212
) 04606 (2) (1. 4600
@ 02303 (3)  0.2300
{4) 1.3818 (1) 1.AR1b
93, ’Tll & X, Oy = e Mf ||1? q &l = 9n .r'l'-.-' H,0 an Compound X on reat tion with € 1, followed by n/
= Y TI"”"' f B 3 % € i wifesmes 22 TN ) grives formale jehyde and 2-met! yl propanal as
2 B 1 T X : pl'wl'.;- {s. The comp ournd X 18
i1y 2-Methylbut -4
(3 1 b ety [ but=2-ene
()] Penl-2-cné
{4y 3. plethy b b= 1-ene
94, WE10.0LTFEEEHIT s w e g B I (FH . .-\.xllﬁu [ II1I.-t-L ~r-']-'--lli'- 6% '=-:I“:Ilf_: I' 4 I: 1'.:;.--
e : Assurme O gas 15 ehaving i A : p
G ,— ,\-,: -:-?.-' —i——|l='|'.f w4 £)1 ¥R (bar) T ‘.u-,i.l-- lh-_-ﬂ-.:-.!n S hards
L 1= ' (Given R =0.0831 L bar K b ol = 1)
feay 70 & : R=0.0831 L bar K-1mol™ 1) {1y 498.6
11 1498 .5 l:':l _‘I'I:-,'
) s (@) 49
) (4 25
(4
g T g5, Theorder ol enetgy c.lv-nT"-'-'ll which is responsible
3 b ) far the color ol L_nm]'IIL N
(A} [NifHO)slen); | 2 (A) [Ni(H,0)s J(en)s ]_-
B _\._] -:\. ‘:__Ium_-' i @ [Ni(HO)q qlmg and
() '\'1| p1)a ]t Q) [MNifen)s A
L T FA 8 is
(1) (=B =(A)
2 7 (©=(A)=(B)
—3 - @  B)>1)>0©
(4} Al = nlwu :=-H_ ) 4) (A > (B)= (C)
96, W= T 9 NaOH & =} Fafeafa 82 G=H FHY | 96, Which one of the following is not formed w hen
T 1| [ I 2L fﬁ?h‘mﬁfﬁﬂ"ﬁ[ H :ﬁ:{ acetone reacts with 2-pentanone im the presence of
o = R 7 dilute NaOH followed by heating 7
CH CH,
! I
s AN i |”fﬂ"'-:;l.t CH x‘n*" i
11 || “-} " ]
O I__. L3 S
CHy CH
1 0 CH; Lll]
) | = L
oS :'u”#h" CH @ e T = ~CH
ACH I CH
-~
| |
s, (g
(3) P35 ;:ffJ _I,/r Hs (3 s ] : |
| | |
CHy o LHy, ©
o CH, Q T
4 /Il-l | E]] . 3
Hic™ # cH T & -
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| 24
| h'i Tz ferfiem | 97 Find the emi of the cell in which the I!.':"]I":W'-EH'E e
1 g7, = BE Femi 70 w0 figerd 206 K o1 FIETCIE reaction takes place at 298 K
r\?’.l_ sififir Wit & - § Nifs) +2 Ag " (0.001 M) — Ni#* (0.001 M}+2ﬁ‘5[5]
124 ! 2 Agls e
Nil:hllﬂ' 3 n'"np‘, " “”.'"” A — M “:‘E'll.'ll LR } X = 2303 BT 0.5 101
3 403 11 | (Given that E_g 105V, ——— =019 5
: . =105V, “L = 0,059
I 1T!TI"| I ? > el I I 298 K)
208 K W ) (1) 1385V
(1) 1385V (2) 09615V
(2) 09615 ¥ {3 .05V
@ 105V (H 1.03R5 V
(4 1.0ARS ¥
. .| B Ifradius of second Bolr orbit of the Hie * jon is 105.8
as, e Het 7"“_4_'[1:1: _IT;q—ﬂ ﬁ‘F‘ Tl Qﬁ T 105,48 pm Fl pm, what i5 the radius of third Bahr orbit of f|3 L
A LT s i w2 ion 7

(1) 1587 pm
@)  1.587 pm
(3) 1587 A
THoy 1587 pm (49) 1587 pm
99. G HIEA T (foc) WHF GO W frwfem @ | 9. Copper crystallises in fec unit cell with cell edge
¥ fomet w3608 x 10~ em &1 FIT 97 length of 3.608 X 10 =8 cm. The density of copper is
892 g cm—2 §1 SR T AN ZAN U 8.92gem ™2 Caleulate the atomic mass of copper.
wifan | (1) 31.55u

(1 15.87 pm
(2 1.587 pm

(3) 1587 A

102.

(1) 3155u (2)  60u
2 60 u |:3':I 65 u
@) &5 (4) 63.1u
X @ 631
, el W .
A ! 9 100. The product formed from the following reaction
: s : - Sequence is
4 100, Frefefam sifufim #9 9 a5 a3 & ! :
: M C.
A~ () LAH, B 0 L.
(i ‘
/\r’ : 4 HO (i) NaNO, + HCl
| (i) NaNO, + HCl - »
T —_— (it} H,O
(i) H,0 5
& B .
o= ™ h.'..-_'l;.' - ~8 O
(1) | ; e 2 NACl
! ﬂhx | (1) k | -
g R K. |
r"/f > g = e
0. ) o« T
N # A
/J_,:-""f-. f'_,/' h"l_r]j .-_55:.\“.._ : ‘-‘\
&) I| “ F OH 103,
. 3 |

Lk

» Q Y L,”U\ J
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1.

103,

o sz & o H Freafates sl ol
@) T ¥, uw HEn dEe 0 e s e,
Fafrs Prmmratl o wwa =0 o =afem Em €
(b}  HgE w= Hawd dEE § Swran T g
@ e e Aae o, i, wmer o
* o= FafEm R T
@ fedtrrd o ¥ gEgs wee § nonfes
UiE=EEETs B B
(@) UwEETE @ H, W W A s wEEH
frfefes faeed § & |/l 397 30
(1) (), (o), (d) 3 (e)
(2)  FEE(a), (b) (o) 3R (d)
— (A T (a), Ils"l.l*.f‘:"mil.':'
4 .?'-H'_'{I:-'ll. (b) £ {d)
frefafs 4 8 9l = 5 #2990
(a), faEwsin Sy woiw e Fan Wil
F w9 H giEin e gl
by =W R w ¥ wm wfaed, e aibiE
FUste WA 1 a5
()t STIRETE T =R sl nime g & o

=1 S =01 5 (o0 F9aie o

- {d)» TESENTH FE SetEd w0 A 9fe FE N

103,

Rt

v % e e o | HeE e ¢

(@ =W i 2§ g T sl e o
AT FAE

(1) = (a) 3 (d)
@) F9E (b, (), (d) W (e)
(3) = (a), (b)), (d) 3 (e)

i)  HEE (b) 3 (o)

SEE T F S w9 e
thgmri = =9 fee sfvefem Fa g Y

1) e

(7) o T oW w fafee g

(3 FAEA

ferreiieer (TEey) ST

Fad
&1

1

102

103,

'l
Beotlon - A :lllnlu“v  Dolany)

Rl Wi follovw b ship bepneenats bl Phies st bing
TR

() liv roois, sy lom anil |l1||-
Dl Bt e e el 1o it i L P

"I'""'.".”“"'I"”' vl ranal i

L] Coorpfundmd g losead vasi uwlar bndles da ool
pramsasis calilim

(8] [TEREER L] cilinr D o, canmna Kbuniny ke rressaciyl
(i1 Iniatweiron sy e il il limtan

el e s vibr Tramic e ol el bk lasc e vn vt ies Blasm
i s wepnc T per ol iviid

] oy avpennisconky b oo pomt, pnsni ] Iy Ewieiae ais
wiore im slx xaleon b les prosent

Clyeioies Pl corroch answer Trons e L grivis

Ptliovw

I::] (1), ey, (ol pamnnd foe) € wily

{2) {a}, (13}, [\].|r|c|i||'|i iy

(1] i), [u:l,.l:ﬂ:l.lh:'fl':l["ll|'.'

(4} (i, (b and (o) € nly

Identify the correct et ol statements

{a) The leaflets are modified nio ||--|ul'- ol hardd

tharns in Citers and Honguinoile

Acillary busls form shendes andd spirally coiled
tepclrils in cucumber and pumpkin

{b)

(c) Stem is Mattened and Tleshy in Cprbia anm
maodificd to perform the function ol v

R.I.I.l:“ll.lrlrﬂ'.lf shows vertically LI aril PrOWINg,
roots that help to get oxygen for respiration

(el

(e} Subacrially growing stems in grasses and
strawberry help in vegetative propagation

Choose the correct answer from the options given
below :

(1) {a) and () Only

(2y (b, (), (el el fe) Omly

(3 (), (b dely ol (e Only

{47 (b and (£) Only

The appearance of pocombinaticn ol les oy
homologous clirpmasal
characlorises @

von  durling  malosis

(1) THyalenl
() Situs ol wiich crossing over accure
1] Permniialieating

{-I:l '--|.-||.|'|||r|'n-|||.n|-|-|1||u‘|-
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: .‘4 55 pe e

Read the following statements and choose the ., .

104. Treiciag w941 ® 9ied 3T B Fee & q2 F | 104

correct statements :
Euchromatin is loosely packed chromag;,

4 T
%) Topulation Explosion

www.skresult.net

Ty g, At S gen wife £ (@)
S ¥ se i gl A e (b)  Heterochromatin is transcriptionally acg;,
o i § R e mmEs aEm ()  Histone octomer is wrapped by negatiyy,
SLUAT, BA7 fEge T & charged DNA in nucleosome 4
() fﬁl:-:h H wiefig afr anfsst ot B # (d}  Histones are rich in lysine and arginine
#| (e) A typical nucleosome contains 400 by
) T I e § e e DNA helix '
400 bp S £ Y Choose the correct answer from the options Riven
ﬂﬁfﬁ"-‘[ﬂﬂ hﬂ__ﬁqqnﬁmw bt 1
~L A (a), () 3 (d) I (1) (a), fe). (d) Only
@ (b) 3 () (2) (b)), (e) Only
(3)  HE (a), () 3 (e) H: Shi0) ) R
(4) = (b), (d) 37 (o) 108, /Giv {98 (€) Oy
105. 519 21 %97 fe3 T E 5. Given below are two statements ;
Nelsiouy - .?Lntnmnrm I: 3
C, Tt & wrafiv e R M e .prlmﬂr}' CO; acceptor in C, plants i 1
o vt S Ko R | oY uvate and is found in e
Exf =T 4 5 mesaphyll cells 5
— Al B
: : Statement [T
4 1 Hl ] JUIHE S &3 : { o5 .
Gt o et S o ey | eyl ek Ry
; = 0L} : 2 Eligntoft Eabnvestdmmmh ch i
?:rﬂﬁﬁ w [ - - ] ¥ = : goue !thD[']'E{':
i _*E{qi‘ fam q, it TaF=i i e {ll?iw:.;’igfhmstru options given below -
: g : = : atement I and Seat .
~. (1) Eml'ﬂﬁ?:‘mllﬁﬁﬁﬂﬁﬁfl - Incorrect sinent I ag
% “'f“:] HETIHEL E mmll"ﬁﬁ%| (2) :Sfatemenl I is correct but Statement
4 (3)  HER T s wE B e oSl
- (4 : o : (3} Stat T
106, F—::n-—ﬁ-g-;-;l - HETL w1 2 o commeet |+ commect but Statement I
4 B e LR A C LR &) e o 4 .
. (1) #A=fgs g T T PRI . Hu{hSt‘"“""“"“andS
' =T T H A B W agarm | (U Identify theine atement I are corret
Q) T Fon, aime sty e e T oot statement related to P ton’
o S TGN ST 71 1 i e (1 Pollination by wind is m o Pollination
- _ - | L = e i orec
N e AT 3 3 o  CDioficpolination o
"4 (B O g "l i = lowers produce foul odours ta attract flips
; a:l_{:':_r-_j A u! {1] ;'::‘jlf'l-l.‘lI beetles to got J-'“”i-l’k\tr."l.i b= i 125
107 %ﬁﬁn 3 ﬂnm SR AT e B gwy & JI'IrJL:Jl:hIi lt:mi butterflies are the most dominant
¢ NG S e W fore T e M) Pollimr 5 8ENts among insects
= 5 i LT RS : abion by water j . '
Thq"?'qﬂ'ﬂ_ﬁfe_ : EEC [ ARl P'l |||'|'| Hon by water 5 quile rare in flowering =
| -l e ants CImg
A EWITT-'] m ET“I'[UI_ E N Hal '..F'I| Trrm%q 107, Hr'hi.L'h one of the 1 . e
HHEE BNT #Hfrifas f : A SHE e & lollowing statement i
i A T spe # | regarding pel electrophoresic SE s ot tres
VO i 1 aufigfy 3 sty 5 5 () Theseparated e b technique ?
Py e g using g d DNA fragments are stained by
3 P o 5,1’1;” S q :| ﬁ A5Ing ethidium bromide g e
U F A AR 7 3 Ay B 5} The presence of ¢ :
T HEN R oy e Tl HE H e “eice of chromogenic suhs
3 HEA B Wy 3= iy bluec : GERICSubstrategive 114
TJI'I'[:TI_K.“ 1590 A1, U i wha 3 Hlitt:tl.lfllul-. d DM A bands on tha EL‘J b 4
(4) E.{J T fis Tll'jf 2 I - ”t“_:l:_l .".I'll;ill,l'.r.* r;dntl]-w.l hﬂHd.H of DN-’;E:LI‘I e
B T S o T2 ey @) Tho o the gel when exposed to UV
-_D'j".l-._-‘-ll-'al.? 'f'..‘-FFIT-F- - 4 —— | -:I “'L‘}'IUL' G I'l"“'d to L'1" llﬁhr
108. s __ TRl I | ; USS O extraction of se 1| ™~
+ UEEE a7 e, s . i strands from pel js Separated DN
HFAY 3 Tt |r-rﬂd{:; e e, FEEit nforg Tl UB.  Habitat Joss ani fr nim HIIL“EH " ':
- A GLGE i - e e ! g s i E =
H—“}ﬂ ‘.Tfl?'i‘:"ﬂﬂ. . - fﬁrn- Lk, ;:Julrl M Species INvasion :I:II:I :':ll::::['fwkg P\Ph"t‘-'um} A =
: _ ~Exbnction are caus® I
2) Ay Ef ()  Competiss * L,_:;:
3 T ) petition
-a_ ':"-:l H“H-h""-'l'hlh'] ! I:’:"'
(4) T faern G Naliyy © 4
d
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109, I"I_I"F G e R | R T "]_I|FIT[| | e
# 7 frg ST EEEE ) WAt :|.-|.L"1
3 =g ag BEAM TEY] W UEY T
Fegs w0 o fer = W R
1y T
7y fafEE
(3) HEeEREEA
4]  ABA (7 o
110, T8 TERE W Weish H] W A x | ypsif

"II'-l I'I‘

Tfaffa EmE 7™ AP H = ;
{1} i \ i
(2) ]
— @) D
M
111. TSz AT
ey Hes = B § 1
TR Wi E faad T
|
et fawed 4 3 98 |
wa | SRFE 12 e
2 FRIEn E e wEE T R
3 =2 RIGER = [ HE b
* Fuq [ FHET O E=i-3fE
112. TEERITIEES foras e T = B 7

TEIShEH

114, Tr=faies § & 29w g ahe &7

1)  Fovree - R

- TR - SN EaE HE
|l [ e

(4) TERETH- PN
115 ELTA.L 55T R AN = B

AR
ATATYIF
EYREOR
SAFEE ffen (uiarE=m)

:li‘_lr"'i'l AN

wfferam 3=, uA. 0, e g

109,

10

11

113.

114.

——
T2

Production of Cu pumber has i r--.Ln-_jd |11._|||itu1-[ iy
Application ol which of the following

5 has rosulted in this increase o wield
male flowers

rocent years
1-|'|1,||||||'-I|II| e
as the hormor v i krvow r'|||I|,1||'ll_|I|l.l e
||-.I||| |l|.l|1".-.

(1% Ciibberellin

(2] Fthy Tens
ey L wtokinin
i) ABA

What is the net gain of ATE w hen each malec

glucose Is conmvi el to b molecules of pyruwvIc

acid 7

(1 Six

(2) I'wo

(3} Eight

(4} Four

Given below are two statements

Statement | :

Cleistogamouis flawers are invariably autogamous

Statement 11

Cleistogamy 15 disadvantageous as there i1s no

chance for cross pollination

In the light of the above statements, © hoose the comect

answer from the options g iven below

(1) Both Statement I and Statement Il are
incorrect

(2 Statement 1 is correct but Statement il is
ncorrect

(3 Statement I is incorrect but Statement 11 is
correct

(4)  BothStatementland Statement Il are correct

Hydrocolloid carrageen is obtained from

(1) Phacophyceae and Rhodophyceae

2) Rhodophyceae only :

{3) Phaeophyceae only

{4) Chlorophyceae and Phaeophyceae
"Girdling Experiment” was performed by Plant
Physiologists to identify the plant tissue through
which :

(1) food is thll'l."-E.N.'ll'{EL'I

(2) for both water and food transportation

(3) osmosis is observed

(4)  water is transported

Which of the following is incorrectly matched ?

(1) | Nothrix = Mannitol

4] Porpliyra - Floricdian Starch
(3 Volvox - Starch

() Ectocarpis Fucoxanthin

DNA }--.ll_l.'|||.u1|1|u-_.|u forms the basis ol

(1) DNA finger printing

(£} Baoth !'Irul.-li; mApPPIng and DNA fin
printing

(3 I rarsla ki

{4 Crepetic ma prpang

www.skresult.net
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% R i D —
TN

f 28
| T2 oAb F
B - : - 116, Match List- I with List=IL.
E | 116, Fit- 1 31 sit - 10 % 714 FAFET F RS List-1 List 11 1
& it -1 -1 (@) Manganese (i) Activates the enzyg,
. (a) T (i) e vaEd W ouE ; catalase
| FTWE fagnesium (i)  Required for palley
(b) Mag
e W) Heiferm ) wm F s ¥ feg ' germination
| 'HrFI'?"FF'& () Baron (i) ,1.:5?41[?5:4112:}':1105”1
() wrs (iiil) ¥FG7 & i Hfw P s LI!GI"! y
o ()  Iron (iv) r-'1|n|::tit;ll-*+.lﬂ splitting
B g Pl S e waler during
() = (iv) ;?jl;_l;ﬂ‘rr“ :‘ir' TT} ;_-'HJT photosynthesis
Trstefey fased 4 2 aft 3= Hfm . Choose the correct answer from the options giy,,
. il : below
TR (@)= (iv), (b) - (i), () - (i), (d) - (i) (1) (a)-(iv), (b)- (iii), (c) - (ii), (d) - (i)
2 (a)- (iv), (b1 - (1), (€] = (31), (d) - (iid) (2) (a) = (iv), () - (i), (c) - (i), (d) - (iii)
(3 (&) - (), (B) - (i), () - (id), () - {iv) S ; g : 12
i _ i {3) (@)= (i), (b) - (i) (c) - (i), (d) - (iv)
(4] I,-Ff:l I:II_LI.[-'!W]-[I';':I. [1.‘];“}.(1]]-(!13 (4) ()= (iii), (b) - (iv), fcj-fj}.fd:l—fii]
117, mRNA ¥F 957 & wuiam 3 wfwm o=y st 22
(1) :51'1:[31 TS ¥ 72 Tt mrNA F ey | 117 The process of translation of mRNA to proteins
i T L begins as soon as :
2 . Che g 1 i ary
@  mRNAFEu R o 43 1 (1) 1 r‘r;rger subunit of ribosome encounter
% _r_". 3 e (2)  Both the subunits join together to bind with
~3), ® tRNA B B RIEC IR mRNA
FIIE mRNA % T 516 & (3)  ThetRNA is activated and the larger subunit
@) T TEEE e A, mRNA 3 iy of ribosome encounters mRNA
= E (4)  The small subunit of ribosome encounters

- opim 3 e s mENA
18, Frefaten T H % B H 7 # A e v
mﬂ_m{ﬂ mm:ﬂ E’l?lﬁ[m #7 | 118. The device which can remove particulate matty

Presentin the exhaust from a thermal power pl;

| (1) T
150

h\-l s = 12 "}1— EF|
By = a_q S / (1) Incinerator

(&) IO HitEE (2) Electrostatic l‘recl:nimlur

4 wEHS ()  Catalytic Convertor

119,  FefafeEs & 4 558 991 e w0 §2 4 sTP 124

Y r-rn:n 119, The flowers are Zygomorphic in

(). TEEE (a)  Mustard

fc) @y (b} Gulmohar

@ g ©  Cassia

(€ fird ) Datura

Sy i* | '
Frifmfas fame i 4 HE T ; : : 5
) s % Lhoose the correct answarp brom the options give
HE () # W () below puons g
(2 '_7"'?:1 () -J:ﬁ" (&) (1) “.3'.]- () Inly

(2) (cl), (e} L'Jnl}'
@ (o) (cl), (@) ¢ nly - |
() (), (b), (c) Ohnly

(3) (), (d) & ()
M)  FaEm {a), (b) #ih (c)

www.skresult.net



Page 28 of 44

i a‘:wwa
B -

T2

|mn:|--ll'1;|lqld 29
Lo deteiaialt' e » 8 w] fol 2
P & ¥ . 1 FTaaTeTh 3 afr 120, I.in.'q-n|1|-|ul.'-.'.||'|'I'.'-'l-'-l.|.||'||l.|~|1l'. ciw i;||‘ll| ]{“: 1”':'
120. AHA ?*'ﬂﬁ‘ﬁ;m = . Aaaertion (A) and the other is [abelled as Reaso
g AT (R E (")
Assertion (A} 4 in DNA

FawerameaER SR (A <3e o i :
Sl £ e R Ll syhyren) =i BLEAN yef % fem Palymerase « hain reaction 15 HSE
A T ] Tl amplification
WA (R): 3 Reason (1)
T it == v e R .'|J'||:1."I'. | Tyie aamprie illim ree 1 ot
FT.::IT. o e e 3 I:-—rl:'ll !l:l-: 1;1-;?1;51' Sl :.I1rl1|'||ll'||I'-_l'||-;- e e correct
)

Jatnnt gene is usec) as a sels ta bl

marker
1rs Lhe h:"-' ool Lhi a5
o e ophins §

e wEAL S das o = fEdE T e iven below
ATiS
: cenprect bidl () i nol the

o ST Y ot (A and (IR) ar
1 (A wih {11-.{ s o ® T (R) (A) il el (h jllml::,ll:,I.__Illm.l...r.r.n-|I {A)
':‘:J_'!F”":'T- Bl — M ;,‘H|q,|-.||n-|1|:lll‘.1“'| s not correct
@) (A)FE E T (R) WA T (1) (A)isnotcorrect bul (R) is carrect
() (A)EE T 8 51 (R) "R Rl . ¢4y  Both (A) and (R) are corfect and (R) 15 the
4 (A} 3R] S e § 3l (R), (A) F e T correct explanation of (A} %
=] © i21.  Which one of the following statements annot be
191, FrfEn A w8 T el # T A connected to Predation ?
e ' (1)  Itmightlead toextine tion of & species :
o Gt s (21  Both the interat ting species ape negatively
(1 i _'_rr wall = : Eﬁ iy impacted
2  TEEHT e i | DRI T EZUU ()] [t is necessitated by nature to maintain the
TYE U ecological balance
iy it "_"_I:"_;' wTaH T ¥ fon T8 WHIG (4) ilhE'|[1‘.1'1|'.|:n-m1-1.|!l‘-l|IP."'F"'-'”':"'-h"""“"r'-‘ ek

comumunity
122, Which one of the fellowing never OCours during
mitotic cell division?

2T TS = TR
4) TETEHEEEEE Sfaferea S1T0 WA § HeEE

122, = + e o e, A T & (1)  Movement of centrioles towards opposite
: . poles
& ML T (2) tairing of homologous chromosomes
AT F] (T E S @) Coiling and condensation of the chromatids
E i {(#) Spindle fibres attach to kinetochores of
chromosomes
123. Which of the following is not a method of ex st
173 conservation ?
1) Mational Parks

(2}  Micropropagalion

(3  Cryopreservation

{4)  noitro fertilizakion
) 124, Given below are bwo stalements
Statement | : :
wendel studied seven pairs of contrasting traits in

124 TEciEwr A T™E

Ca B

e o dEN ) G, x pea plants and proposed the Laws of Inheritance
e s - e T B R B 3 e (R ] Statement I1:

e Thd) & Ffan = i 5

e Ty o Svia & fam 1w Seven characters examined by Mendel in his
w1 experiment on pea |,‘||_.‘|,|'||.5 were seed shape and

TET & 8 T A9 YE H HEE A /i we, w2 colour, flower colour, pod shape and colour, flowes
'|1Lh|li|‘||'..1|1l.| stem height

AR 3, 7 1, e 5 S s i, g Dt itheat | | |.
e -3 - 'k I e Ll T b L IRANTR i slate ks, © o Lhie cotred
_ﬂﬂ*ﬂ'f—':mﬁ]j_?lfﬂaﬁqqqumw. = -,-,-Jh[l 1] :L‘u. ul:u 5 :‘Ifll:”t‘..l_ :LI.“L COITeC
T“ETQ’F"I?FHT—ﬂ'q i fe 7 fa . - answer from the options given ey
_;:. Tf =) 2 |, i 51 7 Ehed | H HE (1) Both Statement 1 and Statement 1l are
: '.’i - - incorrect
(1) e A HGT 1= T (2) Statement 1 is correct but Statement 11 is
(2) YA | T ﬂ’[afrrr_‘:;;m IREGEA - incormect ) _

(3 wEATEE E R e i HI.'.T:::“M A g Qe L5

e = o el L

{J} TR | A 1= Hel 8 | (4} Both Statement L and Statement 1 are coirect

www.skresult.net



T2

" o
’l‘
125. frefafas § 3 5 e wafifa T #wm ?
) wEm
e wETEY
(3 Ha=h1 -

I

126, T s frve & s e @ fedt s

127.

12

129, .'_=_| ] .?_5 ;

130,

131,

8. Tyefuf

faw vt &7

| |.| B 159 '_EI u'n-l]'a.f
T =m0
(3 7% H TR

(4) TV 15
18 T i Frae, et A fiw fory e fod
g
T eI Al i aest & Ffn & o
& fe1u forera) fon sy e f gt 1
(=) e wafem & e F werm ¥ f
) B et mmmet ) e w3
() ST WA 1 0fi 551 & fqu

iﬁ'ga';qg?mﬁzegw%mjﬁ

") FH e Y e v e e g
@) 39 I B v wewm g &

W TR e § ef e o e e

oL Eief
e T Hew, ot e 1t Fitfer
2L STR] B # AR

(2)  Topeeil 3 um e 4 ity a5y e
@) 1951 % S # ww NADP 3y NADPH, %
ER G W
VI v fey
Pretffin & 4 2 y grg 4 At Yo g
A T5HY] G i ¥ 2 i
Y Sy
2)  oferay g
(3) e Ty
) Faimg s
T,
TS T T Wit # fo gy oy B 4T9TE )
T WS 5 sefen o wmm §
HAT ;
12 ST & fiafrors site et w yepeny @l ey
AT 7 4 7y & 5 '
ITF FGH F T 4, 99 frn T fearedt 1 & it
Aty ﬂ__'f"-l'ﬂ :
(1)  THGF| 3 HGT ]| o £

@ we T E W e e 81

(3} I F W o g gy 8
(4) T ANHG ] F

30
125,

127,

128,

129,

130,

131,

126,
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Hingisg:

Which one of the following Bk does oy a

plasticity 7

i1y  Coriander

(2)  Buttercup

()] Maize

(#)  Cotton mr leased from ey

What amount of energy is _ru e GanR

during lactic acid fermentation ?

(1) More than 18%

fﬂj Aboul 10%

(3) Loss than ¥%

(4}  Approximately 15% _ :

Ihe gaseous plant growth regulator is used in plang

Ll:

Ef} promote root growth and roothair formation
to increase the absorption surface

(2 help overcome apical dominance

(3} kill dicotyledonous weeds in the fields

4 speedupthe malting process

Which of the following is not observed durrng

apoplastic pathway ?

(1) The movement does not involve ¢ TOSSing of
cell membrane

(2} The movement is aided by cytoplasmic
streaming

(3 Apoplastis continuous and does not provide
any barrier to water movement

4 Movement of water OCCUrs through
intercellular spaces and wall of the cells,

Which one of the fo| lowing is not true regarding the

release of energy during ATP synthesis through

chemiosmosis 7 [t involves -

(1) Breakdown of electron gradient

i2) ri:;:rau::-_:nt of protons across the membrane
o the stroma .

(3} Reduction of NADP to NADP 1, on the
stroma side of the membrane ’

I'4r]- ~ Breakdown of Proton gradient

W h:lrh one of the fl.'bllu:m'mg plants shows vexillary

aestiviation and di.uiulplmu.s stamens ? !

(1) Pisum sativum

) Allium cepq

(3) Solmmiim Higrim

[:” Celeiriciim atbinealy

l::.'j-.re:l below are two statements

Statement | -

i e,
Decom positiong is & process in which the detritus is

Lh’?-“l“i'- “H['i""-ill'i | g}
i 2 SDer substances b oo g
gy tement 11 tllies h_'ln nicrobes,

Decomposition is i
: 15 faster if the de
and chijtin B

Int thi [igr]
BUEOE the aboye Stk
- HEments, chooes thea xct
ANSW rnunilu.-n!nrjnnt; Hj'h'l_‘tl.l.'lt'l W Meresor
3 LA -

(1) Both Statemp
correg| “ment I and Statement [I are
%) Statement | i o
{1 ||||.'I|r|'|_'\|_|_
) Statement | g i |
Correct Ls incorrect but Statement 11 is

4)  Boty Statemeny |

tritus is rich in lignin

Frect but Statement I is

and Sgate ment [1 are cormect
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] i
(32 Fretafm 9 # B LR g | 134
e e IR Ly il
(1) wa
(2
(%) el
@ 1-.|—._-—.Ir'|-?-'r..' ) . 133,
y33. SeTs A MBI faer w1 61
(1) weE
.| eI
Gy T
W 134
130, XO ¥R 5 T T st s 9
1) o
43 L
h i e 135.
35, U= Y gW (g SR w1 SR ML €
ST E S ie] = S et @ (e
@ fEoraE IOMEEA W W sy wriEEa @
:_1?11':.1?':3—-_.1—&?3.1' £ % T
T ST A 6 S SN T
-.q.--':-.\_ i '-: '-TFF;H q'_ﬁ-f'!-"-l
= A W H e i e el &
_=-I'_'!:I'r.'—' =F =R )
iy .o ;,;,1;_._. ,._.- # e e, T T 'F_[ri'hrﬂ
e e e e Tkl
o TEE ] e w0 A Wla e
E _:—f_;"n B i b1 ey o e
i1y _;ﬁu-.ﬁm:i-
— Fd =359 (d) #JF (e)
P EEE (B) #E (d)
(4 F5 (a =7 (b
ST - 8 ( HrafawT : ST ) 13
136, Eﬁ_—lﬂﬁqﬁ?-lll_%?mﬂﬁﬁﬂﬁﬁﬂqﬂﬁﬂ_l
qa-1 Hqat- 1l
@ TEEE ) 7 W % Y
i et ¢
by FES (1) "“F{'ﬁa? IR & Wi
TEE o fm T g
() THATwE () T wv i frem € ®
A T[S ] A,
h N e FEr ¥
o ) -
(d) _:_1-1—_ = (iv) TR e A A
it T 12 I B S
ol giE 9w S s w b
T .ﬂﬂ_._"ﬂr- o AT m—__-{t,-_,l-”'_ i}
(1 &)=, ()~ (i), (c) - (6 d ;
il e LA b A= i)
{a) = (1), (1) = (i), () = (iv), () = (1)

(@) - (it} (b}~ (1),

5
~__M)

(@)= (i), (b) = (), ) = (1), (d) = (iv)

(i) - {iv), () - {il)

WWikch one of th
pod e en the rools o

(1 [Frareleti

1) .'-'.I.‘Ill'l'l'-l'”""'-'"'
)]
] Ithizebtiit
[Exphrliton il art
i1 Cellulivse
(2) i Tuitin

5 lposarmine

Flisffernie fro

(M
|:1| £t
W)ty of sex
(1) Pircks
(2} {;rasshaprpoers
)] wionkeys

il | Y .|lj'|-"|'|

I ol brees the preale
ApslAan

dark barow m anel o
(i) SPCEE

leposition
(b  deposibong

and resins m thig co

() 1i|.~pn:.11'm1|
gpbstances in

dy deposition of tAnnins: g
aromatic substances in the p

of sherm

(g}  presence Of parenchyma =
lem elements and easential oils

achHve Xy

Choose the correct ans

below

{ellowing P e (11

[ Alrus !

hrop vl 16

Jeterminations

sfIn il st ||r-||
i the lumen of vossels

[ orpamiccomy

T2

g A LTOHEET frang

.-r'|l1_'l|'_r|| ol

ary b ‘|||I|'-|| in

¢ part of secondary X ylem is

{ 1o insect atlac kdu

nry mertatealities &0

£ -
! Ehity

werapicls like tAnmiies

ntral layers of ST
of suberin and aromatic
the outer layer of stem

rim, resimn and

eripheral layers
fls, functionally

wer from the ophions givern

{1) (¢} and (d) Cmly
2z (4 and (&) Only
) (b)and (d)Only
) (a)and (b)Only

Section - B (Biology : Botany)
sateh List - Lwith List =11,

List-1
(&) hetacentric
chromosome

by Acracentric
chromosoms

c] Sub-
mctacentid

(dy Telocentri
chromosame

Choose thie corpect answer [rom

bexliow
”:' |:|1.P {I]_-l:l'i
(2) ()~ (i), ()
(4 () {1y, Lo}
1)

List-11
(i) Centromere situated close
Lo the encd forming one
extremely short and one
very long arms
{ii) Centromere at the ter minal
end
(iil) Centromere in the middle
forming twoegqual arms of
ehromisomes
{iv) Centromene slightly away
fromm thie milclidlie FOrmng
e aluarber arm aned one

langer arm
the aphions gt

(ki () (Liy, ()= (v}

- (il (€] (1) (k= (1)
(i) (i, () = favd

[a) (iRiY, () {1l (c) = (), () (i)
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T2 i
137, foeoh § @ 42 w5 dam A o |
wﬁ%%ﬁmﬂﬁﬂ Freftfad # 4
FH ) w7 e 7 : }
() =5 whEd % 7 H Fw 50 ¥ fom
=T £99 W A, we & v

AT ) )
OSP4 # -
ﬁ Sl it ot s fivmrere e 61 0w |
B e T R s
=t # 1y

138, TofTs % fawg f Frfiafin St =1 uigh sfoat
T wE e e 9 e Sfafim ow

L i i | ‘
B HOS T S A vE W sfiw o= 72 8

¥, o
B i s 1 R T
g

@) T o w9 & et 4 # v g0
T e e A 2

1)  F=AGa), (d) ST (e)
(2)  FE (o), (d) 3 (o)
B) %), (b) 7 (a)
L FEE (), (b) 3 (¢}

139, mmxmm T 1 Tt
¥ Pt 4 4 w3 favg  F] &
T3 gy .

ot ﬂm‘ﬁﬂ?ﬂwﬁl
~fh) mﬁﬂ#hﬁqmmaﬂm

=] e o 8

(c) aﬁﬁmﬁﬂﬁjﬂq

B YUGETS VT W o 3w

Freforfi fammi G —
(D F30 ), (0) (d) e ey

e A (a), (b 3 (4
@) FE (o), (d) 3 ()

137.

138.

139,
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[Hindig=..
Moo 2

i 1 WErE CONYar)
T v { buses in Delhi w ere :
{!:T{fj;::;!:;fetll In reference to this, which te
‘._.'. 3 ] - : l }
i ts is false
s following statemen N
the The same diesel engine 15 used in CNG 1-‘I-l5.5

& making the cost of conversion low
Ll
(2) [lischeaper than diesel ‘
3 [tcan not be adulterated like diese]
l['.l] CNG burns morm iﬁfﬁcrf_lntl].r than Llrtrr.q_-]

Read the fallowing statements on lipids ang firng
out correct set of stalements -
Lecithin found in the plasma membrane iy 3

(a)
glycolipid

(b} Saturaled fatty acids possess one OF mope

‘ = ¢ bonds

(€}  Gingely oil has lower melting point, hence
remains as oil in winter

(d}) Lipids are generally insoluble in water but
solable i some organic solvents

e} When fatty acid is esterified with glycero|
maonoglycerides are formed

Choose the correct answer from the ophons given

below ;

(1) (a), () and (a) only

(2) (e}, (d)and (e} only

(3 (@), (b)and {d) only

(4 (a), (b)and {c) only

The anatomy of springwond shows some Peculiar
features, Identify the corrpct setof statements aboyt
springwood,

(4)  Itisalso calleg as the earlywood

(b} In IPTING season cambiym Produces sylem
elements with NATTOW vessols

€ Itislighterin colour
{d)  The Springwiood tlong with autumnwood

shows alternate concentric rings forming
annual rings

{€)  Ithas lower density

Choose the correct answer from, the options Biven
below |

(1) (@), () (d) ang (@) Oy

(2] [a_],{bhqnn.lfd}i‘ll‘xf'.' .

(e, () and (g Unly

{4) (a), (b), (e} ang (&) Inly

;. :"l:;;?::;{rm can be used during which one of the
(1) Gepa Silencin I8

(2 f"l.lttm'udiugmpiw

() Gene 5B uencin g

(4) I‘nl}'mmase Chain Reaction
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1ai, S O ELILE o P e (A) U
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Frorretah o 67 (A
ey w5 TRa S W e, TR RO i
o T = o e HE

SO {R):
TJI_T'*] = T et S v R L
wm ki

e w6 sl A, Tt i it £ 3 Wil
Tl
1 {A) B

= (RY &

™ {A) HE 58 :
7 (R), (A) ¥ T

@ (A) (R TR RS

an

142 LY & Pty SRS I figan o

== = e e I WS Pt R AR
g FCAATTCR; 32 [TAAGS

2 =3 CAGTA : ¥ s T CAD
3 5 TATTL VTCATAAGS
4 3 ATACTS ' CTATGAD

143
4] J

Jes W W T g AT i T S A e
=i | =

g i Sl

| = :

g Sl e, faE
S AT HIEl Qs
g a7t -:qr-,jm =0 5
THFREME

(B i (i)

s () 3o G AR
L e =
T TR &
Tl B 8
N TR I O i B

- b
A e Sl ST
Ay sgifvm

142

144

s § ol
ERLET)

e fawedl | | | 30 5

-._1|- (@) = (i), {b) = (i), () - (iv), (- (Y

|%_| (@) = (i), (o) =(iv ), deh = (i, ()= (i)

{3 (@) = () (1) = fiw 1) = (1 I';.1|' L)

~ {9 (a)-(v).(b)-(i) k) (b, () - (Ril)

143.

WY
; -',"“:','yjl

g

o 1% Bl k] pi

il
i Heaman

e ar Lo stali
'|.||n|-||-|--'.

G bl
(A Al e other 15

Ansertion
L]
Asrinrtion (Ad

wAerclel’ s law o iyl
|'||I'I-| |;|'l-|| Fopp Ui Rt s Hlua b e
1T gy il
Fizason (I} !

atire] gt a

whatrrme i

(o ativel & lcis Iny i
'.|-|||||-'.||||Il'

it l g bty

Closely hix
I I|I"|I|'.‘||I-l1 it b
sthans griven 1
—— T LR

corech
answr From Hw o [

i1 |'|||'||'{-"'q.'||1.|Hh.u.--.
siation of (/)

il e

cofrech e -p|.
(2 |."'l.:|i'-.|l||l-l|'|||I1H||'-l||-l. el
)] L“Lb|-|||~I-.1||u-|r|u|||ll:p|. TTeal
(4] Both [A) el () Aine carne t and (R) 15 the
correet pxplinalio of (%)
it L ERL nees 0l

caskly Ly

{ry the following palindromi

OMA, which one cah fse cut
resbriction SNy e '

(1 ""l.--‘..-‘.l.ll'."-'_iill.
(3 5CTCAL pas ¥GAGT
(3 e TATLES; 3
i+ B ATACT A

prarti mliar

CATAAGY
TATGAS
Which one of the following will accelerate
phosphorils eyclé T

1) WVolcanic actvity

2]  Weathering of rocks

(3  Rain fall and storms

4}  Burningof fossil fuels

Match the plant with the kind of life cycle it e hibits
List-1 List=TI
(a) Spirogyra {i) Dominant diploid sparaphyte
vascular plant, with highls
reduced male or femali
gametophyte
{b) Femn (il Dominant haplokd frev [iving
gameloplyle .
fify Dominant ciploid sporophyte
alternating with reduced
pametaphyte callad prothallus

(¢} Funarm

1"“ IL.!'”"'H |I~.I|'l|Ll|ﬂ liriEy

(v} Donvinant
unnwtnphytr alterating with
partially dependent
ulbcetiular sporaphyis
4 griven

Choose e correct answer fram thi oplitle

esliovw

(1) (a)- 0 (b (il (€)
(& ) (i), () = Che o Led =4 (el)= (i)
) R GV ) by (i), () 1) (ud) = (m)
4] (a) = (iv) () = (in L)

() () - 10

Lh) {udy- [in
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(<€) T - e
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._"I,
Cons l
___"_'Q:

cific interaction of

e explaining interspel S
:::1?':.:|-1I|::1 {4 ) SIEN S 4|n.-|5m;1: ||['n.-ut }:“"hku,
nteraction, { ) sign s assigned i : i H‘_‘}l‘*‘-lug
frvterac tion pad (1) o pririnbral inter .tu 1 : ich og
e Bollonwing Enteractions can [me "“."‘"F.-”"“ |J * ) e
TILTRRS ] ard [ =) v another species involved .
it fvieeae tion

Amnsalism

()]

P e i
{3} [ 4 q'll'lllh"‘lrlh'l‘"
(4} Mrolintion

Aalilitdon of ovore solu bes g given solution wil
lower Js waher potential

(1

{2 mnke lts waber potential zero

(3} notaffect the water potential at all
(4)  taise its waber potential

Which partof the fruit. labelled in the given figure
ks it a fadse Fruit ?

*

e
B
A
(1) B Endocarp

(2)  C = Thalsmus
(3 Y Sl
M A= Mesocarp

Which of the following occurs due
of aubosome linked dominant traj ?

o the presence

() Myotonic dystrophy
@) Haemophitia

(3)  Thalessemia

M Sicklecell anaenua

If o geneticist uses the blind
the whole genome
Assigniment of fung
tlll.'liuufulnﬁ-!,-

Approach for siquencing
an organison. followisd by
tion to different seRments, the
adoptid by hing is alled as

1 Gene Mapping

(2 Exprissed SO bagey
() Bisinformatics )
() “'-rv.|m'nrr.mnwt.nlmn

What is th ke of Ly

e bundlis she MLLS Fov
iy } alth cells fi il

Vascular bundles in ¢ | Plants ?

| hils :
W Toincrease the nuimber of ¢ hloroplast for the o
., Upeiatiog of ¢ alvin evele
(2 o enahbl,
Able the plane 1
! olerate high

h.-mjn':'nlun- S ]

() Iy
POt the vascular b i tih hig

ibensity A Bssue from high light

{4 l'es Provide e

shhe fop Photorespiraton

Pathw ay
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[ Engist] 15
T - A ( St : wifagm )
151, T A HOR S srofere w e i % L
w0 i sefum wom B2
(13 HETH 0
1J r_jlllr—| ey
A =
f) G s
152
152 g favres & ol W e e W C
AT T o T |“'4h—1'|*" fi
. -‘|ﬂrr5:--—--;l=|f4'ﬁﬁ'-=l'l=7'—'-ﬂ'“?ﬁl?l
4 remEan d T EE e e ¥
{53 2 & v for oo B =0 v ainEE (A) TE
s A (RLT 153,
alic ‘f'—. fre wifen Zo0aE O Ao g2 F
_—_' BT S e #l i |
-l I]"u.
i ST T T TR T R W Bl
3 % v § e e g Sfa ot
=4 (A} TE (R) 78 £ S (R), qM?erI |
T -"-'. :,?I
= (Al ;“_WEHJW?‘:
(A} TTEE BT (R) oE T
= (A) T (R) FE T T (R), (A) FHR S0
E i
54, HY®H HEE i ‘nrmq? feafferl H 2% 100 ml 154
FdTatA 79 FAE 8 ml O, TaftE #1 '
T T
[f] Sml
{3 } il
e ] 10 md
(4§ 2 il
155, U EewkvE e a9 Susl w1 e | g
ATETE WA § 1 A T w1 R CH 0, ="
TR AT R 6 w2
—f) CyHy0,
() CyaHaOyy
3 CHL0
(4) CHuO

Mo

el t Uhit kneorrect

I w T TR

gection - A (Blology : FZoologyl

weanle 5 mocreted in fhii Form of el hel

ar paste by
(1) Sl e

{2) Hippivaerpni

(1 Crpithorhmclins

Fi bt w |tk fiference b
il boisis

(1 ‘-|p1r|-|l-- fibeos attach to cenkromer:

rhromosormies

() Clirommosomes doe cinderse ot telophass

Tl rEALAr

R} "iphlhnp‘ur-|-|1Irnn-rr;a-.
(4 Al the chromosomes e al the e

melnphase

Given below are two shittements fone is L ibelled as

Assertion (A) and the pther is labelled as Reason

(R)

Assertion (A)

Osteoporosis is characterised by decrease

mass and increased chances of fractures

Reason (R}

Commton cause of osteoporosis is incr

of estrogen

In the light af the above stalements, © h.-- e the most

appropriate answer from the options given below

{1 Both (A) and (R} are correct but (R} is not the
correctexplanation of (A)

(2) (A} is correct but (R) 5 not correct

(3) (A) is not correct but (R) 15 corpect

{4) Both (A) and (R) are correct and (R) i the
correct explanation of (A)

d bore

pased levels

Under normal physiological conditions in human
being every 100 ml of oxygenated blood can deliver
mil of Oy to the hssues

(1) Sml
2) 4 ml
{3) 10 mil
(<) 2ml

A dehydration reaction limks twe ghucose mokes ulis

If the [ormula for i
« fopmula for au d| it

to produce vl bose
Coly 0, then what is the

M CiaHythz
@ Cpaklyatdy
) L L.'I |_=-|' !
() CygHigt
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" e o M :
- e r!ﬁf
T2 < [Hind: &g
156. T mfn-l-;n Ha fgm i v g 3 afafoe w37 | 156, In which of the r-qj“fﬂ."."lﬁﬂ. animals, digﬂ_l-.‘ﬁ'l.'-.. triigt
&1 U Tl i 2 s has-additional chambers like crop and gizzard ?
= ‘F\ .
T W’_} '#""'J.":_i'-'-;'ili'_ ThE : (1) Bufo, Haleenopleri, Banguris
(2  F7 Fow FwianT 2y Cutla, Columba, Crocodilus
| WG @RI 2
) & faeen snn (3 Paiio, Peittacits, COorims
4) wmn W afEary ) Cortws, Columtha, Chameleon
157, 5 o v 1 ik & 157, Civen below are two statemenis |
L LELE Statement I
o s srlisnae nf S OIS § = iFerois ¢
WETST 30 Sirmss st o ey o : [he rlense of sperms inle the seminiferons bk fig
q:TI_::l ,F ; T e _'H[:Iﬁ o HEq &= T'-Tr[TI'I"ﬁ‘I in calleel !-'.'F’Fl'i'l.lﬂlll"n
T Statement [1:
i & ; L;i,..m“'”g,...m,_a,-p,i_r.-lhq_- prc-r{*-qur]"d.lrmahr-r.qu Ty
h/E 'ﬂ_ CRERIE __:.1-: H W= w w Ui R from spermatogoria. i
= T80 T e & v o faey fame 4 3w In the Hght of the abovestatements, choose the mogy
b '_"" =T Hll | appropriate answer from the options given beloyw
(1l T FEAIUE ST 0T T (1) Both Statement I and Statement [] ;.
2 Tt s wm Tt incorroct
= 3 wEFITEAE ?_Th-_-l FET 1 T b (2)  Statement I is correct but Statement [] 4
M S e T w1 e incorrect
JIE (?)  Statement [ is incorrect but Statement 7 -
158, Tﬂ'ﬁ T ot aifigs i e L carrect ol
IO 5 e e o S w f, b g | () Both StatementTand Statement Il are correcy
) Femrer 158, Natu.n?l selection where more individuals 4 quire
- foa v Kool s
! ¥ f : , Jeads to -
3 W‘T’*‘ﬁ?ﬂf"ﬂ?{? (1) Directional change
4] TEEEEETEE {2)  Disrupli
o ptive change
159, Tt & sfa-gat w2 (¥  Random change
9™ 8 HETE WieE F g R T it 8
&7 B I?_‘_T_ bl _ﬂ'ﬂi"ﬂ o} f‘l‘: %tﬂhﬂ]ﬂlﬂg {j!a_ngll
M TRLER & TeErm B | 159, Which of the following statements
= P T agorie : - ; o 5 with respect bo
15‘ mq - 3-I‘Fl?;:rr.r £y ana e rndup{.ﬁml: Reticulum is incorrect 2
B TEIE e Heeem @ wgm S (1) SERisdevoid of ribosomes
). St L OO (2) Inprokarvotes onle
T T A A favd i 3) L'.LP~ Craryotes only RER are present
- a-—,al'rfa?_va;ﬁ B e — 4 SER are the sjteg tor lipid synthesis
i - e G = i T B (4) HER :
B k2 LI ) e (ER has ribosomes attached to ER
NG A ""'fllhit'h af the follow ng is present bt i
L i . =R al= etween the
& i adjacent bones of the vertebral columy 2 - g
@) fE=3 o (1) Cartilage
I".IJ e " ‘-'-_r:_,; I'-'] .'1I.!1.'1:||,1! LSS
SN 1“ ".Illllh!lh ||_'|“.-“'|‘.
161 =5 579 w5 forci
3 = T e & . (4)  Intercalated dise
E ik 3 9 % Sl 5w fa i
lal. Which ol lhl._'ll,lllulu,u| :
i o EETET =% e I “Hi :
(  fem e CEE Tl e by secretions from 5.=rﬁ' :—:‘h 'Ifl“n.li 15 not performed
= I-'.';' !.[;-37 TFff il -"?f-':l |” |HHL“|HH|I.-.FI LIy I| H “nklb .r
el : . B o _
(3) =R %1 ey (2)  Lubrication of |u-+|| ' varbohydrates
L 4 . i, = g 3 - k |-1.‘|1.'|_I.l,'
f r ‘T 7N ?n.rﬂ”lﬂzﬁ' Ea e = T | !lj | ||E;|_-¢;1‘||u| ol o Isare hl'l-l'll.h_‘-g.
) Cont actia
ontrol bacterial Population in moyth
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[« Erge? |

(6L R § RN W W St w o ol ere
TS T 3 W T TR W R | e ot s
of PR W W g iy s A

(i v, & I T s W
] 1 ATST T TR ST WO
uiefigra wsmee o T wre W
i AT = WA R ST WM
163, O9TEifEes S eithe wae B HElm dorme =)
IFE SN &
1 sl
{h el
) PR F
104 L sy ) w1, Her B, e oEd
o Ceille Tl T g 5 Lkl
1 ) 10" W9
, Tl 1
& 100 =W
i =791 174
165 Fe o S oAl Saw Tt
1 o T
Fa EL B!
3 L
(4 T
166, s Fam e E

T -
winev vEEfaETE DNA #1 W oy fafee
F0. @1 Trar e § e fersiE e

A ®a T

WE ] :

wigayd vERgfaI DA THE w1 e
FHEZAMETI W oA
Zm fou w0 FeE & g ATE B ow EEed 4w
waq 2an I T

(1) = we ) ve w1

@ WG| | § oA wmeE 1) e B
(3) A | e i e 1w R
(4) = wwee 1 U e 1 ¥

a7

| 162

163

1644,

166,

T2
vin afisadl e s procluct

Dy Ecolf strabn | gresre g iy priLifi |.I |
cam not bind the indocer moleciile
(ilisel weith Die o w hat will be the

) rrowth

rrvisd L i e
wibcooies !

N TR 1 b b plbasal

' if, & o weill oot bttt labesed
HMN A |,.,|..|...-|_,-_. will Tind Hhe [:r-.m--l--r

ratgd b

. '\...'.
(4} Cinly = e will get rants ril

ERLic PiETe

Tdentify thoe ase xual repra June ki

i |
ansocialogd with Ponicillim

(n ondd ia
(2} Carmyrmulos
3y Pucds

() FOOEpOTeS

1 the length ofa DNA mol culbe 15 .1 | metres, I-.
will be thie .npi_lr--'-un.qh-n.llilh--r--r base pairs

{1 .6 x 11I"|:r|
@ A3=10%bp
(3) 66x107bp
() 33x10%bp

Which of the following is not a connective Hasus !

(1)  Adipose tissue
1) Cartilage

(3 MNeuroglia

4) Blood

Given below are two statements:

Statement ¢

Restriction endonucleases recognise specifis
sequence to cut DNA Known as palindromic
nucleotide sequence

Statement 11:

Bestriction endonucleases cut the DI A steand a little
away from the centre of the palindromic site

[in thee Light of the abave statements; choose the maost

appropriate answer from the options given below
(1) Bith Statement | and Statement 1l are

ncoriect

(2)  Statement | is correct but Statement 1 s
incormect

(3} Statement §is worrect bul Statement 11 is
correct

() Both Statement | and Statement 11 are cormect
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T st W e il # o w8 o

ufrm % we B

42l wERRTE
b s

SRR

A 319 f =wa AT # fo wft B el
' 3 T -“-EI -‘-_‘-ﬂ-’ F
i P S A TR T #

T fees it frsmors ooy @01 &
gr=m B
vl FOES! RN Y St wt e | b
s SRR S w b
) TE S0 T R S st gl L)

TE gica uam woats gra frafim g &
fels T ey § vy far k)
= T o & mwe wfem s e wn
F954 (b)Y T (o)

2 (b, (d) T (o)
== (b, |« ,T.'IE (&)

(3
A A (c) TH (o)

14 B e

Uy,

I STELIE FEEt 9 st 76 6w f
CA-ERTE

Faime FHE, HiEn fore AfEas we &
FIETTHIERT W1 Wl Afef il | S siqa. a9 0
™ A # g

SCIEY TSR & e d, fey fawedl A e
N & T

(1) ST W | U w1 em

(2 | WA ) e d
) | T R Al e 11 % &

e R L PR 7 C YRR

e ‘__!II_:,I:II_HF..._I'I' 1 T& W Hwfe o v woy |
il B om i e i L
P ST S W gl |

Bl H ® B W

A8

1K7,

164

169,

170
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[RUCA Y RIS |-|

. wannil i
Dviibritivoren hiroakdiwe dileitas into s

ot ben. Ulls provess s callid

(1) Ihll.lllll-l LTI

) FRuirnn 0 bbb

(Y] Phewcommpsiiom

] L oababwillain

Which ol the Follow i slploments ar Erie

finr
fevi '.qu-l||||||--|:L'ur"n-- Paad e piot Dol Bree fo
”l'-rl- fiiveiln |

I8 ressialin im fhvees Boorepnn sy ol By il groarmastuss

()

by Dferentiatiom of gamete oecirs after th
cemmpilistions of mel mis

e} ;"-1I'III'|I'|||-|| Ues Con b esusdy oo ik theally
diviching stem cell population

] I is compreatled by the 1 (misimg hormme

{LHYane Folls e Stimulating Flormone (FSED
secreled] by the andurh r pituitary
) T b Initiated at puberty
Choose the mosl appropriate answor I
options given below
(1) (b)) and{c) enly
(2) (b}, () and (&) only
(3 (b), (e} and (e) anly
() (€} anel (e} only

m the

Given balow are bwo stabemen s

Statement 1

Fatty acids and glycerals cannot v absiorbed into
thi blood

Statement 1] :

Specialized lvmphatic copillaries callid [acteals
carry chylomicrons inta

ultimately into the bload

!-.|-||-|'-.1||-. vicsaels and

In the light of the aby e sttt
appropriate answer from phe

(1

choose e L ETETT
L RLETRTHTS Bawven bl
Both Statement |

neorrsct

ana Hl.llt‘llll.‘lll Il are

(2} Statement 1 is carmect bt Statemepni I ¢
InCourTmeCl ;
(5 Statement 1 is iy et b Statem ni 11
- " l- L’
AT "
(4} |"-I|1|.‘1Iq||:i1'|1'lll| il §
Labemeng |1
I COmeg |
I8 Dvosagila in i by oy oy I
[ gl I
Wik during o wek the deth R, Il|l ”I Won of /o
; ; ey
15 vidivia s P Drvace -IF Pulatiog
(1 I P per week
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—
T2 =Y

= :
T Eﬁ'q:r - 33 -
ed qﬁj’l’_ i EE'W'%-' 171 Ciiven below are sy & b bommenils
M giatement 1
'ﬂ_ﬁﬁ; W= T - .. [he coapgulum & forme o o nekwio r'-.u1!Ilrrml-.-'nlll--l
ol A e o il | e B A e B |h|mnh£n-
1 giatement 111
aril of ey throcyles

Splpin i6 the gravey
{abemnien b, clhodse v ok

eI T o e R
ahiown &
iions given bolow

i e Bl ol i
from the o

s ford e s & e o A fr e e | :
mEE 5F . appropriate answer
WY Eda J9 ) =599 /| )
(1 ot Statement { and Statement 11 ar

TR areect

(1) Er e e 1 e
{2) Gratement 1 i carpecl but Statemunt ilis

() e EE § A w0 :
inCoTes

5] Giatement |15 (RCOree { bt Statement 1l i5

— 3 wHmEAITEA & g wuT TR

{4) _.l.l FuT 1 TH WII_THH cormh
) foth Statement | and Statement L ane corre i
172, TaEmEs T Emfrmowwl | Feaw R 7
4 | T S Ty | 172, ||F"HL-,_““L...,I.,..mll ariges from
—{1% TEIHs (1 Mesothorax
i ool (A s ebathorax
@) EE s el (3  Prothorax and Mesathorax
{4) Prothorax
4) waE |
173. In the: laxonomic categories which hierarchial I|
173. wifoET | =ffeT ol & wE A ﬂ‘f'l-]_':q'-ﬁ fary mr.mg,vmi-nll1'-=15~|.f.1u||n|_,'.-:|t1la is correct in case of
H‘;_:'_:_T.'!_-;;:_ﬁ;q-ﬁ q‘-&j animals ?
1 T —-| e LT e l (1) Kingdom, Class, Phyluim; Eamily, Order
) T =} = T " el - : ¥ -
' SR b &£ Genus, Species
() 7, 5, ®e, $9, 99, = © () Kingdom, Order, Class, Phylum Family,
& o - P . - - Bl o <
| R TN EE, a9, =, 99, P i Genus, Species
_ AT _ 3 1028 (3} Kingdom, Order, Phylum, Class, Family
e W, W, =, T, e, w1, e | Genus, Species
. Kingdom, Phylum, Class, Order, Family
174, HEESTE H1 TEEEY w1 wfaian Fates A7 Genus, Species

L—s"—nrm‘q_ 7 % IAET & iy TR ¥
174. Identify the microorganiso w hich is responsible for

(1) FEEieas e
¥ i the ;'-Jni.lm:imnut AT I MUNOSUPPTessSIve molectile
cyclosporin A

(3, UERiTEHART
3 BEwEE iferer (13 Clostriditem butylicirs
N (2 Aspergillis niges
4] ZTEHIEH] TN oy -
(3)  Streplacoccus cenvensiae

{4y Trichoderma polysporiim

175, faer d @3 W v 73 & = ek
175, Which of the following is nol L Imh

(1) iy AT AT
. - i conducting part of respiratory system ?
" d:l'Fr-,J?‘T:I{F-‘:I'd arg 1 AIHA YRR WTHE WY (1) Inhaled air s humidified
~—_3) 'D @L{J‘ ?Wﬁ.{?ﬂmf PG R TG
~_(4) q-_.- s ﬂhﬁ‘f A & T o (e e = (3 Prow ides surla
% 4y lbclears inhaled au froum Forelgn

100 (h]

lemperature of irihaliech e 1 proughl o bl

lemperature
vcie fop diHusion g 3, and O35

[ les
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L]
T2 )] (i} Tikvn
176, TFTVE] S0 W) i) fisey g & mld B e | 176, | ippet's dnap bs a type of confraceplivieusud as
T iy Vianill Teredes
: M Mon-Medfeafed LT
1 Wy (&) L ovpprer eilepatingg [LS1
; g ] el bearrper
ids e i 9t | 177 i e Daslorow e Dy b feamvo s | oo s D bl d as
—" ) Assiertion (A) and the other is Inbelbed oy Reasay
ForE T o ot o s arflsmmrs (A B e i)
EA |7
F K | Assertion (A):
MR TT (A A vertiebentes are chordates Bt all choredng AFw
i 5y =% T sifws o % w8 niod vieriehrates
FTTOT (R Raasan (R :
Eitis T rat el VA WeEE o wiafta B o & Motochard is F"||Il1|1"| by vertebral calumn tha
——— = LR aclull vortwobrates
FHA S T 5 e d 9 nen i r
T Bt MEE g T i i|‘|:|1-||b|ll|-]|||HH-.1F|r|'.l"1r.lr|'||:||IIF'- i Mg
: ¥ appropriate pnswer from Ehe options given bel .
e R | o |
bl (A} VE[R) =R A TUT(R). (A) 1 w0l =7 (1} Bath (A) and (R) are correct but (R) s noy | f
Bl ¥ correct explanation of (A)
(A] =0 o (R) =t =8 & 2} [A)iscorrect bat (R) is not correct
- (A) T ‘*_Z'Ii"F':H{:I it & )] {A) 15 ool correct but (R) &5 cormect
I A T () T & (R), () 5 w0 s (W TomIAN459 (B) are carmect and () i th
_ : correct explanation of (A}

i -
178,  Given below are two slalements

b e T % -
L 1 State :
I L2 temoent |:
° ."..Il-,'gupluanln can pass through less than 1 micror
_. filber size.
Statement 11
FET I :
Mycoplasma arp bacteria with cell wall
B Rirs e A T o aaaiT : s ch
- IR ST ST 8§ In thie 1Ij._',h"" the ~1|"l1'-="-|htln'll1t-r1!- Choose the most
ST L e appropriate answer | T st
V9 T fawedl § 9wy ofm Vet from the options given below
e S (1 s 3
: | i Both Statement | and Statement 11 are
SN S correc —
= R U SEF ) A K (2 S -
e X =) \1I-5h-n|:-u| z
o5 1 R B w1 e £ o I s correct by Statement (1 is
T | TFTT S : '
VI ERET I FE T () statement | INcorrect buk S |
R, ) ! | . | = | . ¥
T e | T e ) CEOrTect plemend |
(4) Both 8
N talalvinen :
po S PR Ty A S e e & ELand Statement I arecormint
J 179 Ko |
HERTH RS =J - neoe s et
2 N1 W S Y loricss 5 Wiich oi the stutements s
LT
5 (1] RN
T3 PER - ..\IILII :
- - e e .!”L‘I t wded Mokt II| Walion 0CCurs in < phase ol
BT | wma R I
. s “ IJ"'“”'L:.'”: I”"”"llll-"lll ’
a ST PRI 1) & v mm stogfor sfemad evonnbimat Eous cliramosomes and
| - T J||||.I:|'JI..-|¢ Tk i
e B (&) POl b e
, WO collg ke foy
L () g =AW = araea 14 54 eloniel i s
! (4) Fhisgys are by
Y

St
and [ SN Motosis, Meiosis]
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FI M | —
- L] . ]
A | T2 -
L 'R
180, fa Lt HTEY W HEM R | 1h i |r|u.~|1-.-'|'\-.|H--|1I-"|I'|'-""
(n SeEe T WO N B W Wonm W (n oty only ligh Fink s ecion
(2) ST WSO T W e KT (A Comsiry wrily emcliongpored fpeies
3 [RY Consirrve only gaelinch AP
il T TS 1 1T %17 fesl ai s b TN
— (4 Proytec T andd Consorys Flyee bl ey s e
[E HET YA ] mETMY 1 !
181 Aj whloh sl of Yl Al cofEmenl pracioes, i
151, WIS mH e v Fm I iniated
TR gt =T i1 1 bk (vt forpriesnl Wiy
" — [ ikl
_ 1) Alailt
i} |
1) TR
ih i
{R2 Witsdeh of e fesklinaring b e arreot miate b for ] i
s TEoy F s T T we wai wvi w wR e sl {1 Ay mplom
—l - y <im 1 . i1 ooy hiph Ca eyl CRLERITE, rapid
. o = 5 = ; ._|1.|._||-.-|
= T = T Tores
B __3 : s { afvasthoenin grayis onathe disorcder
i IS ST S| q 71 TRAETR remiilling in e alening & il paraly T
i) ahoebitial maisch
Trey R T T A ™ vuscular-dystrophy = AD piibo LMl
S R |1|.'\-|~|-1*'I L -I||'|il|}: |‘|"!|':f"'-'ll"' o eerrwrratinm of
- e chelittal el
S (4) Aapiheitis I flarmmed) joints
B3 T e g
183, Given Dl are bwio atatiements
SCLA Statement 1
EIGE bob ey & farE W, AR TR WO Al ohmaniane disorder 15 a ¢ ondition whire body
7 iy £ T Tt 6 defense mechanism recognizes s own s a i
T foreign bodies |I
st L . N N\ ;. statement 113
e e i o U s § Fre <7 Statement1l: =
e B S A ; Ehewmntoid arthritis is a condition where body does
— : iy , _ not attack self cells
= | = % gEm B S Ter T EEea &
il . ) T feg 0 TEET R OE In the light of the above statements, choose the most
3w & =49 8 appropriate answer from the options given below
e | T e 1] T F ) (1) Both Statement 1 and Statement Il are
w0 | TE & Vi e e incorrect
— v Shateme ol y :
o | T & St met v (2) f_-ruh.tmnt 1 is correct but Statement 11 is
- inoorrect
& o e | UE e R - .
| ! ! 3  Statement 1 is incorrect but Statement 11 1s
s TR R ADA) S 9 faf A E
T il (4) Both Statement [ and Statement 1 are cormect
& ST 184. In pune therapy of Adenosine Deaminase (ALDMA)
) )4 SR G How et A Frm deficiency, the patient requires pet iodie infusion of
e WETg sl &1 W satl o yay fEm genetically engineered lymphocy les because
s (1) Clemie solated from narmaw cells producing
; AR T S ADIA is introsduced into cells ut embryony
(™ : & T80 -".-'|'|_f-l.|“! # YA W A JEyS stages
smryp = -
o) = R (2) Lymphoc wehes from pabieit 5 hlonod ape grow i
~ ':--J'h '-.:lT-'jr_TISJi'i. '_'- :i"i-i"-' E ] -’.-':ll'-'.F.I“i s sErivEE Tl inculiure autside the iy
" 5 i Genetically engiin el [y oy es At ik M
— R LR ol cebs
44 == TR ATHETA g WY 6 :
(%) B T | : I y 9 Teyl () Kitroviral e sy Le fpromduassd [l
Iyl il

e B
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185, Foifivs o wfre & 3= woaed, aven 39 WA
A T M A AT el W) v w0 W

T -YefEim

~{y TE AR

n
2

(2

3w - B ( afaar : wiofEeT)

18, FEishaaEwe?

Ty e ¥ EeeE S w TE ¥ A
& foael v fewrt Fore ga I E

iy ST ¥ 2R e st A frem g
Ceakak-keingd

“y:_‘._ﬁ =1 7@ & 590 5 Fm snfaEs FuieE

(2

STEEE T
=Nl e F T A & e e e
w3 s e ssm w3
187. @m#mfwmm@ﬁ
M T s E o o A g o faep
TETEEF RAEER L
@ IEEE R A EE f s wa E
TR TR R A sn m s, fagt
= =1 o 5 s e g 8
(4) v e s | g fasfes o g faafes
=1 =1 T=feeml v g i e o §

Tatda siEen & foma o e wuq ) e w0

1y =TT R G e e 9 g

— wAfFm s ¢
@) T wE vem yEvE w) wgfa § s
¥t #

188.

- Qal\
)

Tt wirrsn w9 & wam 3efian sitatyee
TELE 1 E

o T U # qeell an fEd e
T i & 5 i srfaEm e o

145,

186.

187.

184,
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Mrewdding crops with higher levels of vitamins and
minerals or higher proteins and healthier fats is

callmd ;

(1) Meeremediation
(2)  Bio-fortiflcation
(&)} Nio-acc umulation
{1y  Die-magnification

Bection - B (Blology : Zoology)

Which one of Lhe following statements is correct 7

(1) The tricuspicd and the bicuspid valves open
due to the pressure exerted by the

simultancous contracton of the atria

{2)  Blood moves froely from atrium to the ventricle
during joint diastole.

(3)  Increased ventnicular pressure causes closing
of the semilunar valves.

(4)  Theatrio-ventricular node (AVN) generates

an action potential to stimulate atrial
contraction

Select the incorrect statement regarding
(1)

Electrical current can flow directly
nedron into the other across the el

syfinpse.

{2)  Chemical synapses use neurotransmitters

()  Impulse transmission across a chemical
synapse is always faster than that across an
electrical symapse,

() The membranes of presynaptic and

postsy naplic neurons are in close proximity
in an electrical synapse. )

Select the incorrect statement with respect to
acgpuired imumurnaty.

(1 Avamnestic response is elicited an
hullsuquvnt encounters with the same
praathuogen

() Anamestic espaorse s doe o memory of first
S TS ALTTTN T

K} J"I..w:[uul‘d rmmunity s non-specific type of
slelense present at the Hime of birth,

) Primary rsponse is produced when oy rbody

encounters a pathogen for the first Hme,
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N e W - . .
TSR T iy iy T
' L . e
LM; .-il.ﬂ. wia B LA o v, -
.:\,' i ::-E'.l -I1 r: &
i {54, HEt- 1 e e igo, Muatch List=1with Bist- n T
5 ’iﬁ" £ Hqelt- 11 tlst=1 List-11
{ =iflge 3y ) (s w=d) {Binlogical Molecules) (Binlogical funetions)
. ) : i) Gilveopen 1y (R IETR TN
(a), THEAREE () T by Globulin (i Biocatalyst
() b L (b B - [ch Shernics L] Antibody
) =L (iif) W] {eli Thromibin LIV} borage prodiict
(d) S vy AR =9 Ehocss (hiocorrect answaer fram the oplints given
fireey Firmpe 1 B ik : Telin
s B A R T D e j
| (1) ()= (i), () - (i), () « (i [eh) =ity
1 fal 1 1! i 1
I_| { (v}, (b= (i, (e) = (), Lad) = (i) {2} (ag= (100 (1) = i) (€] = REERE (= (k)
(=] (RD= (i) - {iv] () - Lk ehy = A @ fad= o), (b - GEied (1, (k) = (i)
A () = (iv ] (B = (ein). (] = (1) ()= (k) (dy (=G (k=R fe) - (v {el) = (¥
14 (@Y= (), (BY= (a8 (e = (i) pd) = ()
ork to mathiods

fon.  Makel List= Lwith List - 1T with pesp

e MM AT LT Lroime

ol Contracgplion and their re
List-1 List =1}

:F_ﬁ.,” (a) [haphragms (5 [nhdbit ovulation and

i STt wE T I EHA

190  we Foran i SR W - 1 W

8- =

fmplantation
Icrease F.|— oy o

1)
¥ A H (b} Contraceptive (i)
L () TN H YT Pills sperm ithin Literus
R R Bl = B v {c) Intra Uterine (tif) Adbsence of M nstraal cych
() (i) WEE = HE Sa T T Devvices and oviilation following
=T = ':;I:I'q'ﬁ;q'l"ﬁ parfurition
=R e LE e {cl) [Lactatiomal i) They cover the cervix
d) TR N F i el ) - i
, j__-_ " By ._._j g 1_& i, Amenorrhea blocking the entry ol
S RILE] AT s sperms
forey fEweal 1 dfe 90 &1 =9 Tl ; Choase the correct answer from the gptions given
an () -giv), (b)= (i), {c) - (i), (c)={im) below
2 {a) - £ii), (B - (iv), (6 - (8 ) - (i) (1) (&)= (i), ()= (1), ¢y = (i), ()= {iii)
(3 {a) = (i), (b= (i), () = () =1iv) (2) ':'n'l_l-I:Ii].llh:l-ln.'].li‘:l-l:lﬁ {d} = (ixt)

(43 (&)~ (3, (b)Y = (@de) =), (d) - i) @ (a)= (i), (b) = (i), (€)= (), (d)={iv)
{4y (a)-(iv) (b~ (i) () = i), () - (1)

191, N - dsDNA =l =8 Faten wit Hifun 1IN

_.-1 -J-r-'._.' rad ?:f:l _:!1!-.'_‘!-: '.I-:! '.'::I_'-"_ Tﬁ"l| el l_t!',rr! VGl
i e s e s R G

(1) S0 A0 N { free from N 7
(1) 40 cells

191, Ten E.coli colls with 1 - dsDNA are incubated in
medinm containing M nucleotide.  Atter oU

minutes, how many E.coli cells will have DNA tomlly

(7) 60 FATETE
(3  BO I (@) 60 cells
(4} 20 FRIEETD (3 B0 cells

(i1} b cells

192, afe @1 9 & = P S EIEE Rake- | 99 T
8 i T e i A i1 192, The recombinabion foeguency bty the genes 4
5%, hidec-15% hid-9% alib-20%, & d-24% -y . . . ;
(T O TIUTEA 9T A A =0 gy & ois 5% b & ois 15%, b & o s 9%, n de bois 2000
. [T il 1 W ) ¢ dc il 15 249 aah o f A 18 200, What will be

aded- 20X
on alinear chromosoma

& 7 B ol Ll JlEsEIRs

(1) d.bha (11 sl b

(2} i Bt il

|:%_| A, G b, d [F) i o/b d
|.Il| W o bk

(4) =sdbe

2y ab o d
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196. 171 5 % Wl waneeh 1 svatity s off & 7

(1) o i w1 aufeufy

(@ e afoeiE v e 9 afty
@) =W s e s W 3t
(4)  wiregToms i smba a aufoads

4

193,

194.

195,

Page 43 of 44

Civen below are two statements ;

Statement [ ;
In a scrubler the exhaust from the thermal plant s

passed through the electric wires to charge the dust

prarticles,

Sratemoent 11:
Particulate matter (PM 2.5) can not be removed by

serubber but can be "‘m”u*-'d b}" an electrostatic
precipitator,

I the light of the above statements, choose the most
apprapriate answer from the options given below
(1) Hoth Statement | and Statement 11 are

Incorrect

(2) Statement | i correct but Statement Il is
incorrec

(3)  Statement 1 s incorrect but Statement ] i
correct

(4)  Both Statement | and Statement [l arecorrect

Statements related to human Insulin are given below

Which statement(s) is/are correct about genetically

engineered Insulin 7

(@)  Pro-hormone insulin contain extra stretich of
C-peptide

(b} A-peptide and B-peptide chains of msulin

were produced separately in E.coll, extracted

and combined by creating disulphide bond

between them.

Insulin used for treating Diabetes w

extracted from Cattles and Pigs.

Pro-hormone Insulin needs to be proc

for converting into a mature and functional

hormone.

Some patients dﬂt‘lnp allergic reactior

the foreign insulin.

Choose the most appropriate answer from t
aptions griven below .

(©)
(d)

()

(11 (bjonly

(2} (c)and (d) only

(3) (). (d) and (&) anly
) (a) (b) and (d) only

Which of the tollowing statemients is not trye ?
) ue -
(1] Wil potato and potato s an -.-\amplu of

analogy
(2} Homology indicates common anc stry
(%) Flippers ol penguing i |
dlll.i L‘I (N ] r
of homologous Organs Iphins ape a patr
(h Analogous structures , re a ne_fl.ult of

convergent evolutivn

Which of the follaw ing

15 00t 4 Jos
Cloning vector ? irable feature of a

:—Iu: ::u-wm HI: 4 marker geng

2 fesence ot single restrictio i

3 Presence of two Or more rm:n Et@lnu ‘mte

M) Presence of origi e At
g of replication

B e . S—
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i e g =W e ¥ Uvm 0H T A farme TTH 2
ol s o, pEE FiE W w9 sl

e Him = 1

199.

i,

=
P2

Wl s s T with 1w n

Liat=1 Lt = 1

ju AL | Imsiii
iy sl il {1y I syt O tiwe
I'i i
il I i (TR ||||-|-||.|| | fssiini
i itk (ELL vy € Tkl gl i larLRinm
Fhisi Yy correcl ATHRW a1 .|-II-|--.|-I|-|--:_'II [l 1
wrlon
(1h fiy o 08, (8] - £ER), 1 il (ehy =)
| il | THy ) = 1) | (L
PO O 1) I G L {i
] () sy i, Gy =0T (e L)

Wbk e oo I
( Vactorin are @ 1ii nle hnlerall I i
Eyf LA r s T
¥4 Hime monrlds are sapri phyk peanist
clantiried wraler Bing {evm WMomara
mycoplasma hai sl AL Ribosome el call
wall
(4] Cyanobacterdy are & o af autotroph
orpanisms lassified under Eingdom
Wonera
Which of the following aree not the eifects O
Parathyroid hormaon 1
(a) Stimulales the process af bone résarptior |
(k) Decrepses Cast level in blaod
(<} Reabsorphion al Cat ™ by renal tubules
(di Decreases the absorption of Cal* from \
&

LilHL‘?\1l'\t fioonid
() Increases metabolism ol © arbohyidrates
Choose the most .1[,-|'|mpri.1h~ answer from the
options given below |
(17 (b)Y, (cb) el (&) omly
(@
(3)
4)

{n) and () only
(b} and (€} |'II'|'|f-'
(a) and (c) only
piary s oo

If o colowe blind female marrnes 4
ol het

was-also colour blind, what are
[ipadnuess !

phue chances

progeny having colow b
) 508
(2} TE
) 1S

(4} 25'%
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